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+ In case of use of Non-Standard OMR Answer-Sheet, the candidate must properly write
his/her Roll No., Question Booklet Serial No., Question Booklet Code in the space
provided in the OMR Answer-Sheet by shading and by writing in alphabet and numerical
on the front side as well as on the back side. Otherwise the OMR Answer-Sheet will not be
evaluated.

+ Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
invigilator on duty after taking their seats in the Examination Hall, and the other, at the time of
handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after the
completion of the Examination. Cases where a candidate has not signed while submitting the
OMR Answer-Sheet and the Question Booklet, he/she shall be treated as absent.

+ Candidate should clearly write his/her Roll No. in the space provided in the Question Booklet.

+ The candidate should make sure that the Question Booklet No. and corresponding
Question Booklet Code is properly written/shaded in the OMR Answer-Sheet by him/her.
For example, in filling up the Question Booklet Code, if the candidate gets Question
Booklet Code °‘A’, then he/she should fill up ‘A’ in the box provided in the OMR
Answer-Sheet and also shade the circle ‘A’ in the OMR Answer-Sheet.

+ Candidate should do all the necessary rough work on the Question Booklet in the space
provided. Rough work should not be done on the OMR Answer-Sheet or on any other paper. If
any rough work or overwriting is done or whitener is used on the OMR Answer-Sheet, the OMR
Answer-Sheet will not be assessed.

+ In case of any discrepancy or confusion in the medium/version of the questions, the
English version will be treated as the authentic version.

+ No candidate will be allowed to leave the Examination Centre during the examination hours.

4+ Any candidate found using unfair means including carrying restricted items like Mobile phone,
calculator or any electronic gadget or objectionable materials, etc., which are not allowed in the
examination halls/rooms shall be disqualified.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda247

OMR TEF°[@ *[ F91 S [ s & '3 @ 2 =RFE 1-96 a1 Fwea =Bl T
TS B 02 IR O[PS FET AR (1 OMR TEI#[@¥ (F941 (967 A | (FCA! 1[0 [orre
e seFele WFae T[ore IR 2@ FHerel IR A7 |

eyl foe

+ 71 10:30 TWN LIS AFFOIUT ATF FFo e |

+ OMR %3799 TR IS AT/ e @12%B (oeid wa Tl fofers w1 worcs 2pieht
ARG =y AT, FIFel 2AANCS ATl 2T $o1 $eIT A AF Ghretd IS {98 Teq foiva
T ACE 0-25 YT 99 AT WAF FoOmCe pol e A ww FiAes Wfofe Il OMR
Teg7m =7 |

+ Non-Standard OMR T&3*@ IFIEE CFAS AAFACE IERRSE (SSEFT @@ 74,
AFIFC] TG 794, 2ANFIFe 506! OMR TeI#199 [z 1% 37 SR AqfeR oA WA9F FiE
IF IeT T bl A AT AGPHF 71 OMR TeIa AoFeid 2[el F A | STl
OMR T€I79q e 1 72’1 |

+ ST FEEE M SR/ @ Aae TR [T T AR, AGRE (DEEIT [T
TPE 228 IR TS ¢ %orE OMR $@d7@ SF n@icods erses ol e e |
el [ TR/ @F cfae AW @ORAE FEY TR, (OERE  (OSEF SeolfFe e
e 231

+ IR PFIFeLTe W e ITe (CStEFa @6 T59 =BT Re e |
+ 9t Whve @9l Shhe wIte 2ol T W AR e ¥°T wEacel OMR $ed7@d

e oize ol = | SmRRera, AFIFed FT A[ FAN TNAS, ANFACE A2 FAA 2PIFFI
3T ‘A’ AIfFte1 OMR Ted#iaq e 9izs ‘A’ ffim #ife =i Rifve 3 ‘A’TH 3°an Ffaa == |

+ SREHIAE TR (97 @GR 46a1 (rough) I 2FRFes @l szece FRE 217 | A[rwAE
U541 (rough) F THI2[G A1 T (I G99 oIS IR (19 | Taofqe I @2 #4541 (rough)
I AR T @ 0 R IJRE I, (SRR (9] TG eRA F41 727 |

+ 2R LN T AZFIS (I $7e7 e Aifea 7EA e e wefRul 2'ee RAIE AFRONOIEE
2AFe wE Jfel o Fq 27 |
+ Al Ofel A9 SRS (I SRR ARFPT G TR SREe i w279 |

+ JERRIPEES o[ 2E /e [WRE A @ (AR (FE, (PEPCED Al (FIA 19T (QAPes
AN 11 SfEETs T AT RIS SeRte [l 9877 | AW (B ARERRIE SR TR SEer
T¢I T @7 TeEmd T AR REpEE Tokdl w9, (908 (98T Sl o [eana w4 =79 |

SLRC-2024/P-111/ 1-A 2


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

OMR Tea°[@b =79 TR 7 “Arwiice w2 five 2e 2@ @ 2yota 1-96 e e “piufe
TP e =z @32 e Fate =T @ OMR Tea7@lb F9e OF o | @il 27 omte
AT W<ETy AR SRefe FRC Al e A T |

eyl e

+ 9l 10:30 bR A erieiafe AR FHCe Yo |

+ OMR Teasitad AR Jefbre Met/Fel Feeas coF 7 w5 T fofes wwam = amf
AR 7T T, TRl 2AATe 2ol AT $o1 Teq (MeqF & @2 qeFa Iiks [om Ten ffon
FAE & 0-25 AT TH AFE G2 oo g @ A wH IR G @A Forre OMR
TEAq (MeHl TS I |

+ Non-Standard OMR T@3°g IRIIEE (G ANFACE IR SIw @&l 54, ZPSI?IF@?FNW
T, ZeRFE @rele OMR Teaeitad ffwg i el Fae =@ @32 ARG s @ (ot e
@36 T @22 APHF oy OMR Teseiafb AfoFelca 79 Face =0 | WAl OMR Teatad
TR %A A

+ AFwRiee FEwET ment TeARfs/ @@ At @R FE FA00 70A, AR O A 0T
P 212 FER T @R @O OMR T@ad 3R 2eafs WarwHE ol (TR N | (I
AR TS/ @e “icq AW ORI FER Al R, OIRCA OIF S HFS ¢ A A 2|

+ SRR ric) rew R e AffREeE S| @6 99 SRR f1ece 209 |

+ AW Gve zem Sve aite epeitam TEa @32 WBB 2Pvean e e OMR Seaeitas e
T 11 T | THRATERA, 2P (FIC ARG FAN T, AR &A=l FA e @Fo ‘A’
4IFel OMR Yeaoita e i ‘A’ fervee =@ @32 Wive e ‘A’ FiceT s =F |

+ A T GFCR AT POl (rough) IS 292[ca (ST TG FAC© [ | 2[FrFiR <7l
(rough) & T€I7G 1 S0 (FICN GHCTF IS FACO 2@ 11 | I 2[FrFR @2 78 (rough)
FE TEIOCq T A AW T8 GG FCI, A G2 TSIACAT TOET 1 2 °1

+ TR WIGN [l A (P G SPPie 7eel WA @RI SR 20w TAE AFAER dFe
wWH A AT FA TA |

+ T SAIPIE (FICl RIS SRR T Ol A e (reFl B Al |

+ REFRIeE AR 291 /F0% @I FRE TR @ (RIS @, FIEREd G (I @i
SIICED 1 Sefeda Tl Teft Ja FAF SRHe (eq 7 A | ARERIeE AW @I SR ToR
T TS (TR AR AN SR AW Te TS AFrwE fRepR Tekee wea, O SISl
CTRC T 2 |

SLRC-2024/P-111/ 1-A 3 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

OMR T feez@t ong EemwaE frmat, fomfaen s@t weamaty gammE, 1-96 Rm it
Tearerewr wifar fosmema wif@ de@@™ € 3 OMR R faeean maft araee’ 9 StamEtat
HIAFA TN | AIETER Sd-a AiATsAT @i fasimeEt @reE=T g amaa TEfe i@ arsst
fatergn)

ICIRERIC

+ %A 10:30 fonfs Rem @ity foemsel omHee @ amEma @adr sl

+ OMR = faemef Sem seAE e /e gaug< waast 1o et fE gaat e
HfUGEt ANE TWEAT AR, AT SfRme: AAwmEa giafd TRt AR g om
Al FiRE R T A g/ 0-25 @’ TR anna o Aferma: MRt s
AT 6 WA OTETE HiFet SHT 16 [96s 3AE SHEE T8

+ Non-standard OMR T faee srErAmf fafaema faertemn dem@ e @@ Tw=), Fity
faemefa wift =, wifar faemef™ wswEt OMR fRa el SemE S Tam e
T R Rrmfer ot At wew grEt o o (srAfmn) foram 19 sng wrerat
A | ASTee OMR R foes@t smAse ™ SE™ T8

+ foenformn wed wf g Tma | Sew THSTe WYRETE gEE e Td SRR SRR 3 e
foammE g TEfkfifen Sam genirm /e foameaE, o [gA aHE, SESE BRI 3
JEfeiE @ity faamz o OMR fa faemset ™ @wE OMR 5 foas o |ty
foretrg@l oA wurE fosirn wfy Semdsen fol STMsee SaEHe R THE S |

+ ity foczae e frame Sermme fsefern e maE @ e o |

+ mifar ol TR o wifar foemef % et OMR R foemef e S
ot wra feenforn den sarn mAn fafefer anfed, @it el w5 ey @
T femmiern @A w@ifa foaef w1 ‘A’ Srtsar OMR A faemeR g s
‘A’ T ATA I B s ‘A’ T MEE E@TAE TR

+ foenfoer s TEmf 9 ™ @ TRAPAE (rough) @mEHET @ity faemst st
ST WA T | ST SremET TREeEEE @bt 6 o e fofe g e
T forarzama Qe A TS| T fSergara 9 WemHar aRAEEE (rough) @mTtREr fasiern
Tramse e foRenm forfd (overwriting) @ramdleen TSl TEX MeRE! (whitener) OMR T
foregama wiFlsen & OMR 57 feetmg@l =A™ SA™ S|

+ ity foemsl fosl won wEEAEE JETER TR 9Tt TS g JEEETE ST St
R TEt HETEE i foasEEt i A THEET dHE e |

+ HSTE AP I quE Tael et ssmefafa e o et e S e

+ TSR /@uEE ARaT fISfIwT g1 T gaT SR HEE B, shaigored T fafe TamH mremeR
Solshe e gl aTerisen fof forsmforat gman g ST |

SLRC—2024/P-111/ 1-A 4


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

OMR IW-U=F @t W & Tgat weneff @z giifim = & % woa-gferst & 1-96 @& wsft gz
THATIER Jisa § aur =g ot ghfia X & fF OMR SW-u=s shadt A9 @ wafdm 21 foret oft
fommfa < feafa @ et wvA-gfeae aeem ¥g ackrer ffiers &1 gim w1

TEqul e

+ UM: 10:30 99 ¥ UgA UHeT-we H UyA-Yieaewt T @i |

+ OMR STR-USe & 3IUIh g0 H T& W &l Aot /Fie Sier-rge 7 8 fafge w0 9 qd asfh
1 I SAHYEh UG @, HRUT TUHA: TeTd I 3R Tk & T o ToTC Uk & 3i1fdres fohed &
T T W 0-25 THWCHS 37eh T T g iR faeftoa: foreft oft worm &t Toret stean gam
& foru srfafd OMR sw-w=res & feam s

+ -AH® OMR 3IW-Uh & HAER & A W, gdermeff s srfAama: (a=r et AR,
Ty-YfEaeht shuteh, T9-YfEaeht wig OMR SW-Uaw | {33 7 o= # sifha & grm qen
A R D h WE Tk AUHTAT TR TEATHE I OMR SW-U=eh W for@AT g ez
OMR IT-UFH 1 GedAThd A& ToRAT ATEM |

+ gherfeiat w Afeaw g0 & A suferfa /A sfie W & 9R gETeR o B Igefl SR S|
aiemefl Tiet-she o ot Hie W oo Y, qur gEd aR e H Tya-gitaet a1 OMR SWR-UTH
g o g9 | 3R foreft wdiemmeff 3 OMR 3W-=ek o WA-YfEaert Wiad ah gedter & foram, at 39
ST JHT ST |

+ yw-gfeaw § ffdy wm w el o 19 TR wes w6 6 faw

+ wdeneff a7 gifym o= o f6 7% g foreht woft wya-gitaert Tean qun @ uva-giee wie
OMR IW-UFh H TE ¥ I U, YA-Jfedet ol Wd |Wd, aig udermefi @t
Je-gieast ‘A’ THet, @ OMR SW-us& ® & T afed § ‘A’ fof@=m g @ar OMR
IW-Uh # ‘A’ ! BAIRA HET BT

+ wlemeff @t W@ 1 W (rough) FE TH-IER # & T wH W W g1 W FEF OMR
IW-T AT A Tt g o FHIS W A&l R Thl | A HIE T 1 I1 NTERET OMR IH-T% T
foran e =1 foRsteh 1 W= TR TN, @1 OMR STR-USh o1 HodTshd gl fohel S|

+ Tyl ok wremw /EEeRtor O TRt oft fomerfa o gm < feurfa O st dwestor € e g

+ wdien % IRM foRet oft whemefl 1 wdien % Sied 1 ergAia T R

+ Ffe g waneff Tad TR AT g TR ST 2 AT Ao Sl TE S HEEd %, hogetel
1 forelt e it Sgfoess wrmft stuEn AmaftieHE awg onfe, el whan gfe/we 7 srgEta a8 2, @ 39
I YT SO

SLRC-2024/P-111/ 1-A 5 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

1. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
1. G2 ST (R s & <ifes 2

(A) BaRTS (B) =z

(C) T=7[{ (D) orwsile
1. SIC2N S0 O A&l (@A 2w 2

(A) DABwS (B) =25

(C) T (D) orwaie
1. TTEH TSI ST TSI AT T ?

(A) =g (B) ST

(C) TR (D) T
1. 3T2W AT 6t Afm TSt Ha-w oft?

(A) =R (B) Sitere

(C) TR (D) e

2. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita (B) Jakoimoti
(C) Kherxuti (D) Soirindhri
2. A =0 ol WROP T e 2
(A) SRS iRl (B) =Sl
(C) =yl (D) <
2. NG *}FECA PO N i e 2
(A) SRS iRl (B) el
(C) c¥=mTel (D) CIf&!
2. fmeq vemeaf foeft ger amE?
(A) AT TS (B) STeRHT
(C) @egfa (D) et
2. fiTd Tieed I STt 1 AH T AqT?
(A) =ATEL3 ATEAT (B) STehigHTt
(C) wgdt (D) &
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(A) Adil Shah
(C) Krishnaraja Wodeyar

. TR PR’ (@I SRS ifew 2

(A) =Tfwet w2
(C) S TWIE

. (P WREE PR 4 wIfeifbe e 0

(A) =Tfwet =2
(C) FReTET STCAR

. W HrgE fie g s

INBE USRI
(C) FURST TR

. AR I o AW G TRy ST S on?

INBELESRUH
(C) FURS AR

GET IT ON
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. Who was known as the ‘Lion of Mysore’?

(B) Hyder Ali
(D) Tipu Sultan

(B) 22w wIfet
(D) 5% pere

(B) 2RMIA el
(D) b7 eTem

(B) BIEa ATelt
(D) fag geam

(B) T et
(D) & Gedr

(A) Punjab
(C) Rajasthan

. SRS (FIICHI TS SIfeTEEIETe 7S 2

(A) 1G]
(C) qrerzl

. SIS 165 SRS (Fle TS SRTS 2

(A) GR

(C) A&EI

STTTHETT ST RAT &9 TESTd &7
(A) TS

(C) TSEI™

. SifeATeTeT s 9Rd o forg TS | e 27

(A) USTE
(C) TSEI™

. Which State of India has Jallianwala Bagh?

(B) Haryana
(D) Uttar Pradesh

(B) =fmen
(D) Teq 2w

(B) 2fme
(D) Teq 2w

(B) ®IAMI
(D) 3T T

(B) wfm
(D) 3IW =
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World War II?
(A) England (B) Japan
(C) France (D) Soviet Union

. TaSw frsyme e fafeie @ or Sr (alibe SRemIE oifes 2

(A) 2ecETe (B) Sl
(C) =™ (D) (TSR ST
. AR el wo (R e fesema T el v few 2
(A) =T (B) Sl
(C) =™ (D) ol Fey
. A g IEEI g TRETE B 9 g1e U g STeniEe ?
(A) = (B) STaw
(C) % (D) |fiEd g3t
. Tafafaa & @ #F-w < f5df fovegs & dnm gf vy & e an?
(a) Fe (B) ST
(C) B (D) Eifera a1

GET IT ON
Google Play

. Which of the following countries was a part of the Axis Group during the

. The ruins of Angkor Wat are in which country?

(A) New Zealand (B) Indonesia
(C) Vietnam (D) Cambodia
. 93T 69 FLTRCPIIR (IO O ?
(A) frefecers (B) TSR
(C) TSRBTN (D) TR
. IFTOH-GF  FITRCR (P (0] AR 2
(8) Frefeemre (B) Zcwicr
(C) fermeam (D) FcFIfea
. 3T 1A SRREIT STETMST o« 81ed ¢
A) Fefes (B) 3= <ferm
(C) TR (D) o feam
. IR T & Teel fohd 21 § g7
(A) Fsficis (B) TEMfEmET
(C) Torraam (D) haiten
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. Which of the following countries does Assam share international borders with?

(A) Bhutan and China
(B) China and Bangladesh
(C) Bangladesh and Bhutan

(D) Myanmar and Bangladesh

. afefe @mER orir GTte SPI SwEifes SANEE = 51 2

(A) SO == B

(B) B S aTICm

(C) I F BT
(D) ST S LT

. BT @I il SPTRE SEs e Aol 2
(A) O @ B
(B) T 8 qeTIC
(C) T € THI
(D) TRFNE € LA

. ST S TR e o e ?
(A) Y TR <f
(B) = AR setmes
(C) SCesT IR T
(D) TIHER AR TR

. 3rem frfafaa @ @ 57 2ot 3wy siafda dan amen s 27
(A) e ST <
(B) <A IR Smere™
(C) IR R YA
(D) PR 3R FFATRH
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. If an airplane is flying directly from Chennai towards Guwahati, in which direction

is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East

. A Qe R iR A/ SR e ol ©fF =f2 Wew, (90w [EeEe @it eite T

MR ?

(A) wFFeR #[1 {Ca
(B) a4 ~d1 ~AP5wCat
(C) =63 =<1 7[<CeT
(D) TE<S *[1 e

. I @3 e a2 (A SaEbE W e e am, ©@  ft @ Tug 2

(A) wFERel (AT 2me
(B) & cxc “iFoames
(C) 6% (AT 2= me
(D) Ted (AT o M

. T fowa’st gt =mnEtE qEEEii o o e, steen forn @ fome forai?

(A) EIATHER AT
(B) TSI GHTSY
(C) HHTAHER ST
(D) WTETHEME HHSI

. T ¢ gare e =g ¥ WY TErErdt SR I$M W @ 8, d a8 e feen § SeM W wn 2?

(A) 3feror & gd it 3R
(B) g4 ¥ ufyem &l AR
(C) |fvem @ qd &l AR
(D) W & g &l AR
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9. What is the Westernmost State of India?

(A) Rajasthan (B) Punjab

(C) Maharashtra (D) Gujarat
9. TR BTSSP 6T A JET (1L 2

(A) == (B) “1g

(C) 211G (D) T
9. TRCeA 5o ey (FED 2

(A) qrerZrT (B) “l&®

(C) =g (D) T
9. WA HHTE ST TESI3T o ?

(A) TTEAH (B) UT=ITel

(C) HErE (D) TsRId
9. WA o T Tl T HH-91 87

(A) TSI (B) U™

(C) HErE (D) gsaa

10. Which of the following peaks does not belong to the Himalayas?

(A) Annapurna (B) Kangto

(C) Anamudi (D) Kamet
10. RIS (FMCE! %291 BERE el 7= 2

(A) ey (B) I

(C) = (D) <FICr
10. oS (PR D R wrgefe w2

(A) el (B) I

(C) (D) Flco
10. TeEN 9 ffafer et T=?

(A) g (B) i’

(C) emf (D) e
10. F=fefga & @ wF-dt =i fevre @ gafa ==& 27

(A) T (B) il

(C) mmd (D) e
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11. The Great Barrier Reef is located in the seas near which continent?
(A) North America (B) Australia
(C) Africa (D) Europe
11. (3R TROMR AN7[ AR J28 2[E 2B S[Es 2
(A) TET HICIR (B) g
(C) =it (D) 2T
11. 28 20 @b (b iR 7)) @ TR Febel Tew S[iEs 2
(A) T SCAI (B) SCGml
() (D) Tl
11. U2 SR AT oo FRRAT @I Ao 37
(A) @1 TR (B) reforen
(C) e (D) 7=
11. U2 sfer O o wergi & ke wgs 4 for 27
(A) I st (B) sreferam
(C) erhiet (D)
12. Which of the following is a mountain range of South America?
(A) Andes (B) Karakoram
(C) Alps (D) Caucasus
12. FRRETRS e 7= SR @ o 2
A) «fes (B) FRICTR
(C) TE= (D) <FCPoI=
12. SICoq (I wiEpel SICHfeRe @i “esren 2
(A) e (B) FEICFEN
(C) X&™ (D) <RI
12. BRI SoT G SATHRR BTSIHET HIi?
() T (B) PRI
(C) T (D) e
12. Freffiad & & F-dt 2f smfE A v sEe 27
(A) (B) FTHRH
(C) 3o (D) HTeha
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13.

The giant waves caused by volcanic eruptions or earthquakes under the sea are
known as

(A) tsunami (B) cyclone

(C) blizzard (D) landslide

Ao Sfere (21 SRR Traleel SeEl g R 59 92RO (R =
(A) P (B) 1-sTat

(C) PIR7T® (D) Bfrem

LTS 6 SR WA 1 $RFC= Tl T2 T2 ST @ 2
(A) (B) gifw

(C) AR (D) P

e ToeTa o1 Hal SRS TS SHEEEs G Tat SErma ESH
(A) g (B) sIHIETE

(C) X% awgQn (D) = firftrmm=

YR & 1= SATeTgE! SR A1 oy % HRU Scqd faee qu st el S @
(A) g (B) =shdrd

(C) S®HT qHH (D) s&EerH

14.

14.

14.

14.

14.

Who is the Chairman of the Rajya Sabha?

(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President
AEPTOR Y (Fle] 23 ?

(A) earTE] (B) ToE-fe

(C) IS S (D) FZf®
qEPTON IL=F (F ?

() ZHeE (B) Tomigeife

(C) CIPTSR S (D) wgeif®

TSI AT SRR |

(A) TITETE TN (B) <IeT3 BRRAM
(C) g9 el Fufiit (D) BTERAR

T [T KT LA HH Bl 87

(A) wa= w=h (B) 3uargufd

(C) S| e (D) Tt
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15.

15.

15.

15.

15.

Who administers the Oath of Office to the President of India?
(A) The Prime Minister

(B) The Chief Justice of the Delhi High Court

(C) The Chief Justice of the Supreme Court

(D) The Speaker of the Lok Sabha

S[Aeq qF7MST (FIC X77S 15 FCAER 2
(A) gl

(B) W&l T FyRIERE 25 R0

(C) Tohow TRIERE 7 R

(D) GIRPTSH S5

(F TRCSA AF7RSCE * 912 *[10 FA 2
(A) e

(B) Twall TH TREEE 24 [oReife
(C) T TR 24 [vmeife

(D) CTRPTSR S

IRAT SRRATAT foem aumaiat 9 e ?
(A) TITETE FAA

(B) fegt st fafsrentafs were fomman

(C) et fafsrenfarts mer femmema

(D) §Y st giafii

9 o TP <l g <6l 399 i feetmar 27
(A) TaH Tt

(B) fagt 3= =mame & g =i
(C) Tat= =TT o G e

(D) SARENT 3Teae

GET IT ON
Google Play
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16. Which of the following musical instruments of Assam is usually made of bamboo?

(A) Doba (B) Mridanga
(C) Dotara (D) Toka

16. R[S PR TMRAETHRS (FICH! AHRECS J02cq Fiffe 2
(A) (B) el
(C) Tl (D) B

16. o Tferfie SpIcTa (i ImRED MaEere I fr tofF 212
(A) THEI (B) ™
(C) eIt (D) Il
16. TEEE SHE STEMH J SHSEl A SHE?
(A) = (B) ga
(C) &am (D) el
16. fr=faIftad § @ o18m 1 hi9-91 Gifid SeEE AHAR 9§19 § o4 8ld1 87

(A) == (B) @&
(C) ara (D) 2w

17. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji

17. (GIFeT2 B2 ST (% T SKFS ?

(A) @20 (B) =RwoE

(C) fefpm (D) &
17. (G112 B I8l (% (FIAR SRTS 2

INISIEEY (B) =S

(C) femidrl (D) CHIfes
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17.

17.

ThHATS TTET AR HEHAHT Fe1d &7

(A) SET (B) <&
(C) femgferan (D) St
ZIheTS I ST g el 1ed 87

(A) SiRETe (B) T
(C) femgferan (D) &mrsh

GET IT ON
Google Play

18.

18.

18.

18.

18.

The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
(oM™ ©qe FRFRT Ol (5N Aol (22, (&FFLe ISTS TS ?

A) Tedrde (B) T2me1 2lom

(C) W2IE (D) Tes zom

T (2, (o™ S FROAET G0 ©lol, (P e SAT© 2

(A) Tedray (B) T2smet 2o

(C) T21g (D) Teq ziom

Tfeg Yo H1aE 5 78 @ieal Tfar TEr 9" qEsied €7

(A) ITEUS (B) femmra yam

(C) wermy (D) I

T I, TMifee wam wEfe H T 31, fHe Tsa ° foa 37

(A) ITEE (B) femmrar yam

(C) wewry (D) ST S
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19.

19.
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19.

An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called

(A) Freedom Hour (B) Lunch Hour

(C) Zero Hour (D) Party Hour

TR ATTS (FIC GOl We1a e Sqisrer sl Sifqzce 2p/Raw =i Seee €99 A
R S (AR GEB] T 6 for (i =@ 2

(A) FET BT (B) TOTZCOIE el

(C) [0 et (D) W 71

I Gl e A vermieter «ofb ffE 9bm T 2/ Rmef e Aot 7 Tl
2Tl T 2CT #I1CH, S A

(A) FE= I (B) =S Fel

(C) *FT Sl (D) eI Ple

RAMH TEeE 9FEH SYE B |9 el SRS gity/seem fan fitmeera
Torar gmN, o T | gy

(A) 3eifa T| (B) AMSIGH TER ¥H

(C) wfora’ w| (D) BT ||

IR w8 § el vk o7 o &= § forn forelt 9@ g9 % T/ 391U ST U aTel 39 T e
1 T ST B

(A) T A (B) WeATE-HISH el

(C) I A (D) ™ 1t
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20.

20.

20.

20.

20.

Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister

(C) The Governor of the Reserve Bank of India

(D) The Vice President

S (NITI) SR LT (GFle 2
(a) foe T3

(B) T

(C) SR Rers @3 =T
(D) Tergfe

TS (NITI) SR ST (S ?
(a) fre =@

(B) e

(C) SRR f{ers FEa el
(D) Toigefe

Fifa (NITI) s sterefiien |Je?
(A) T T

(B) ETE WY

(C) Wty femed siepfy MR

(D) ©IST3 BRRATR

Hifd (NITI) =0T o1 278987 SiF 27
INBRESE:EL

(B) W& Tt

(C) Wt fisrd Sk o1 TaT

(D) Swrgufd

GET IT ON
Google Play
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21.

21.

21.

21.

21.

The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat
(C) Golaghat (D) Dibrugarh

ﬂﬂa G CNLTINE SR (1L ST S@ies 2

(A) feTeE (B) @<=
(C) CoreTram (D) fegare
AT ISR SPICHR (I (SR ST 2

(A) PRPTISE (B) =21
(C) oD (D) fEgan

WA JAferTe ome wemETer o« e g7

(A) R (B) g™

(C) e (D) fegrs
FATChTE febret st % fohw forer & fera 27

A) TEEmR (B) SREre
(C) T (D) fegme

GET IT ON
Google Play

22.

22.

22.

The international festival ‘Kullu Dussehra’ is celebrated in which State?

(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

PENoF TAG gl 7oAl (I TS [T Pl 2 2
(A) T2 eioe (B) Teq9e
(C) Teq Aom (D) =f<E

AT TR g I (T A AT 272
(A) feameT 2w (B) Teae
(C) Teq 2o (D) =
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22.

22.

(A) femme g
(C) W =

(A) femme yem
(C) 3T Y=

GET IT ON
Google Play

TSR ®IE g TR @l 6 AN Bl =7

(B) IWr@vS

(D) BIRIMT

AL AER g e fohe T § 7RI ST 27

(B) IWEE

(D) @t

23.

23.

23.

23.

23.

(A) Australia and New Zealand

(C) South Africa and Madagascar

AR 2NN (P G5 TLEF 72 FCA 2
(A) SR = Wefeers
(C) wiEFel SRR SF TMIONER

(A 2ot (e 7o FeTeIIcS 52 T 2
(A) SRR @ Fefees
(C) wFHFal SRRl S TWISRE

IR F-FE1 79 A FT-@EE! S ?
(A) el mt i
(C) e 3TTHehT TR HETTTEHT

(A) sHtefer iR =ficrs
(C) afequr hIehT TR HSTTER

afaT STerf-ar R a1 s-rT SR 3TerT SRt 27

The Bering Strait separates which two landmasses?

(B) The USA and Russia

(D) Japan and China

(B) SCHR I&A1G S IRl

(D) S A= Bl

(B) i1 I&=1g ¢ I
(D) &I 8 B

(B) 330 THo o TR AT
(D) UM AW ==

(B) GYh T TG 31K &4
(D) ST 3R =
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24.
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24.

Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan
(C) Joi Barua (D) Maitrayee Patar

XSG (PIACT Ol Sl A6 AT (I 2
(A) o fFae (B) Tfey el
(C) =& Il (D) CCas! ~ma

RIS (PICT oIS “SeTplerwl” offel (P fEIeeemet 2

(A) o fF7a (B) Aifeiey w2
(C) =7 == (D) CCEs! Areq
IS ik TR ITeTh=a1 Hemg gefiifan |r?

(A) T fhaa (B) @If=ed =1
(C) ST s&aT (D) Bt d1eX

IS hiak R M T ‘A=Al T foree fora?
(A) T T (B) ®faed i

(C) = =& (D) TarRft uTeR

25.

25.

25.

The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika

ST (T IR T4 TG ASPR @0e] 7 2
(A) ST 9 (B) “@ FI= (Tl
(C) B (an=f2 (D) T b BSPI

ORI AP IR (T4 g AR 2FS T F1 2
(A) TR F[I (B) “k@ IR (TPl
(C) B (aIzfE (D) M 5% FASIEPI
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25.

25.

F1ed TYer foan = e ferl o) get =7
(A) TS S

(C) fexa mere

(A) T S

(C) f&= meré

GET IT ON
Google Play

(B) Hfer FHR Il
(D) FHS o= T [T

F1en FIreR T 1 BieR! i Soef 9m 2

(B) dfes FUR S

(D) FHE T3 TS

26.

26.

26.

26.

26.

(A) Nabakanta Barua

(C) Bhabendra Nath Saikia

(A) TFIE T4

(C) SCEHAIR *ZHHI

(A) TR I

(C) ST XA

(A) TR sl

(C) WelrgTy Hgihan

(A) EeIa Sw

(C) weig 1 Afpan

Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?

(B) Hiren Bhattacharyya

(D) Arup Kumar Dutta

BT822 NBE AN Ry ~{[R4e (PIea frfRiwe 2

(B) 23 ©TIGRT

(D) =il 9 TE

@OTR [T *BRE D87E T2E P @192

(B) 2ca= ©GIHR

(D) STl I 7€

T AR fosTe - g% -gE megEd @t ar foai?

(B) f& wermd

(D) 379 AR <d

=1 I gEdR, WARTE geyE wergy fhed foweh?

(B) f&a wgrmm

(D) &9 HHR <
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27. Kanchipuram Saree is produced in which State?

(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana

27. [T *T (R TS T T 27 ?
(A) T (B) wIfiemie

EN

(C) wfibe (D) CoCERal

27. Fieew M (Fe qCes TS 27 2
(A) e (B) wIf¥eree

KN

(C) FbF (D) CoCaTsAl

27. - Al 99 TEsiierd g

(A) T (B) dfirerrg
(C) Tl (D) TR

27. W Tt 1 3cured foRd TsT | BT 27

(A) W (B) dffrerrg
(C) Tl (D) T

28. Who among the following was a famous painter?
(A) Vincent van Gogh (B) John Lennon
(C) Bob Marley (D) Marlon Brando

28. FRIRS @FWaaF 9o [2re g Sifee 2
(A) TS5 coa a1’ (B) & (&
(C) 3’3 eef (D) Wcett Acel

28. T (F GFE LS Hafa 2 2
(A) TSCTE O &6l (B) & G
(C) 33 el (D) SCeA ACl
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28.

247

28.

TR EFE AR |8 g 9emi nRaume?

(A) TirEe 97 ™ (B) SH &=

(C) & AT (D) e STe’
ffafed 4 @ &1 T ThE e oan?

INECAE R (B) SItA o=

(C) s wed INEISEEE

29.

29,

29.

29.

29.

In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent
India?

(A) Lawn Bowls (B) Badminton

(C) Carrom (D) Judo

ST Ol (GRS TN *RFRR (IR (4eTe elqes aAfefiag w1 2
(A) &7 3’ (B) o

(C) &’ (D) el

PTG ORI (DI @R TR BRI (P (TR ©Ices AfsfifEg ¢ 2
(A) T <= (B) D

(C) <= (D) el

STEM AT =g ST Toa FefRamn wRAt S A1 e ?

(A) T & (B) sefirea

(©) (D) ¥

31E Al I el 3R T SR e a8 9ara @ afataite st &7
(A) @M S (B) Ssfiea

(©) % (D) <=t
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30.

30.

30.
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30.

Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand
(C) Sania Mirza (D) Leander Paes
(TR (R e T |

(A) T FHE (B) ~[cawTl Contow
(C) wifera fii (D) FraeR %
ATCHRFB (ACTRTSCE Bfes e |

(A) TN TP (B) =&l ConAmm
(C) e et (D) Fraer e
EStERIEpICIRETRIRY

(A) <1 FHRR (B) geiat TS
(C) @ fosit (D) forrreT om
Sefied faarel %1 vg=nfw)

(A) T HHER (B) T TirdeE
(C) @t fosif (D) fadet om

31.

31.

31.

31.

31.

In which sport did India not win a medal at 2020 Tokyo Olympics?

(A) Boxing (B) Weightlifting

(C) Taekwondo (D) Wrestling

2020 5fFe’ Hferf e SHre (FMRY (4TS (FIC e e F41 A((Re 2
A) IEgm (B) ©ICAICSLET

(C) BRRcPECS (D) &=

2020 GIfFe FR9F SO (Fle (P 2 (SCoie] ?

(A) = (B) SICACSIT

(C) DRCFRICT (D) F%

2020 "EUTEH 2fHst Al aREEETEE TRaT 9" ToHEE g HARg?
(A) FAEE (B) fifer s@mm

(C) dTghaTE (D) EHATIR

IRd 3 2020 RN Afus § f5a et § qesh TEt Siar?

(A) Faa (B) Wi

(C) driet (D) Pt
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32.

32.

32.

32.

32.

247

The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton

(C) Gymnastics (D) Track and Field Events
AT fSCRIfare™ 4ol TRE s Sel (FERY (41 PIe v 2

(A) ice™ (B) CICfroe

(©) fergmfes (D) & o e oot

I 2fSCaIferer @ TRA fefol (P (=T e TS 2

(A) >eE (B) <WTefroe

(C) ferruiiBeT (D) B 93 Rreews cxem

HE RN FEREARHEN FI SEEUE oM 9« TeHmEst dmar 17

(A) |HfEE (B) Fefired

(OREELEIE (D) 2 TR BIYRT TAUT AT
grmE o form wat # ufeenfiarsti it weh anffes sjeer 27

(A) TRt (B) ssfiem

(C) Fommfee (D) ¢ 3R hics B

33.

33.

33.

Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis
(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football
yE (P Jferel Y&d1 @l o 599 |

A) B qwanf - fFn (B) &= 3o : a1’ (Bferm

(C) DoM< Tug : o (D) &3 @Il « Fh3e]
TTSICd (e (el iz we |

(A) OFF @1 : (B) =1 3of : =1 (Bfert

(C) Bizers Too : s (D) @M @mICEe! : Foe
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33. MY sEEAE S e |
(A) o weamt : fohehe (B) = & : o= 2w
(C) TR 3Igd : Teh (D) ffEam’ THee’ : Fead
33. T gAfad Sie 1 qe=nu |
(A) THa Teant : fhhe (B) =W &t : &t 2w
(C) TR IH : Meh (D) Terfeeami TATeeT @ Peata
34. Where is the National War Memorial located?
(A) Srinagar (B) New Delhi
(C) Tawang (D) Amritsar
34. TER T& ool o w1iEe ?
(A) i (B) = fra
(C) D (D) So7{
34. JIFF W SLF (PR SATS 2
(A) & (B) e frd
(C) Srews (D) SR
34. ¥Hd IR B9 e 5@t g7
(A) TR (B) TeM feg
(C) (D) T
34. ‘T I5 Wk wEl o 27
(A) =r (B) 7 fegh
(C) @ (D) 3TYaT
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35.

35.

35.

35.

35.

related to?

(A) Fishery and livelihood

(B) Women empowerment

(C) Land records and land revenues

(D) Digital education

RIS (@FMGR e P 53T fiee PEal TS 2
(A) TITATER S G

(B) 2w SREpaet

(C) PhiceTy o<e $fil ez

(D) ffechs st

oA LR ITCF S IFIPICAT PTRAN 25 GOS ?
(A) TR € G

(B) =1 SRl

(C) TR wierel @ S Arery

(D) fEfEbre Mo

3TEW TERH e ag-aen meE w87
(A) T BRa IR =3 TR

(B) TSI TG W=

(C) BT-ITI TR BI-TSIT

(D) fafsreat dietiens

31EH TR 1 fiem s Fefafed § & frod gefia 27
(A) TR AR TSR

(B) HEe STfcheRl

(C) ¥ sAfici@ R oy Ts

(D) feforea fatem

GET IT ON
Google Play

Which of the following is the Mission Basundhara of the Government of Assam
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36.

36.
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36.

Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
fRfeTe @R 2few e Ar2ea FPRE AT Svw 7= 2

(A) oTC=T 9% b’ (B) Zm 9g Ifzm
(C) 6 W= (D) BI5T w692

eva (I AT AT IR TP S 7 2

(A) FRCH S Gl (B) wifzm =1 Wiz
(C) cFPf Ba (D) BT GIBa
TR 58 BHATT BIATTRETR TR MR 7217

(A) < T gs (B) wfewx T wie=
(C) wd HeH (D) 27T Hed
frferfiga & @ F9-91 wrea TSy aret & =a|e & T8 87

(A) @A T sl (B) wfézn e wfgm
(C) i Hed (D) 2T Hied

37.

37.

37.

37.

37.

If the pH of a liquid is 5:0, then the liquid is

(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
(FICT 999 “MIq pH WM 5-0 27°¢A, (12 o991 "My

(A) 4R[SR =Ffeq (B) zfi® Zpfoq

(C) w9 419 (D) =i epfed
@%b e 1. @35, (pH) 5:0 2¢e, (13 OF410

(A) =R ZFheq (B) TR ziphen

(C) =T 4o (D) = agfes

Jfe 78 AEE pHIT 5:0, 375 o ATl

(A) @Re gl (B) &=

(C) & =g (D) ufere srgf

el feret 59 %1 dio oo (pH) AM 5:0 8, Al a8 59 ®

(A) UHfd ¥ AR (B) Uefd § deed

(C) Wt &g (D) SFfd 5 i
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38.

Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh

1 SR, 2024 ACHCT Saeq SRIES (i 2
(A) TR 5% oI (B) I N &IR™
(C) oM qo T (D) FrEEne PR

1 SRR, 2024 FCCT ©[eed ARG (3 2
(A) (oI BT oI (B) AW =12 (FIR™
(C) oM 44T (D) sl PR

2024 AT 1 SR @rfeifémre qRaf oeTg geriifen |n?
(A) TS T] RN (B) T 1Y i<
(C) SHTET &Rt (D) Ty g

1 SHaRl, 2024 1 WRA % ITLAR & &7
(A) TS =@ TRl (B) T 1Y =hifeg
(C) ST e (D) T firg

39.

39.

39.

Which of the following belongs to Class I category of lever?

(A) Scissor (B) Wheelbarrow
(C) Human arm (D) Stapler
e @echT 22 i@ fereray wmsfe 2

(A) ! (B) co= el

(C) = 12 (D) BT

Teoa @G AW cifer foreicas srwafe 2

(a) ¥ (B) cFeTenfte

(C) T 2re (D) SBII#feT
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39. TR o« H=aAT or@El 1 foemf fafefr?
(A) @Hfy (B) et T
(C) AHfa A= (D) TUAR

39. frefaftad & & F-a1 <fiaw & e 1 vl § gafea 27
(A) i (B) et
(C) wHa YT (D) WUeR

40. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland

(C) The United States of America (D) Japan

o

40. (T (T TIOR TOITS 981 P 90 983 Wbl F& 5 =CE 2

(A) afemst (B) pRERCATs
(C) SICA=F TS (D) Il

40. (T (T SR O &1e “bSRICS GFb W F1 SR ?

A) A= (B) FTERES
©) e ﬂ@?{@. (D) SI77

40. 9¢ TERH TRfthatrma st TaH a5 e &7
(A) FfSI (B) gEoRCIUE

(C) R SUTE TR (D) S

40. forg 39 % TYA v | AT I8l W UF 96E i 27
(A) ssfiet (B) fersiels

R

(C) |IH TsT T (D) ST
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41.

41.

41.

41.

41.

Which of the following is considered as the earliest compilation?
(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda

TRfeTfre (TG SIBRSCE 7[Ff et el f[eave 41 23 2
(A) T (B) ‘W’
(C) ‘s’ (D) e’

R @O 2D e 2T [easan 1 23 2

(A) FTHHT (B) ‘w2’
(C) ‘4w’ (D) TN
TeER e sty il s o fosme g g7
(&) FgeT (B) ‘st
(C) ‘foae’ (D) ‘@mee’

ffafaa 4 9 fra 9e@ uge goad qHT ST 27
(A) ‘A (B) ‘ererdde’
(C) ‘FFaE (D) ‘@mae’

GET IT ON
Google Play

42.

42,

42.

Which of the following places was a part of the Indus Valley Civilization?

(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine

foraferfre (Ieh! g P ool Ferer wesfe 2

(A) TG (B) @Rem
(C) “CaLgmICal (D) J2CEDIZT
i Tfarfere (e 2 P Tororel sTerer o fos 2

(A) ST=feroresTs (B) e
(C) Gl (D) drECeroizs
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TIRTR S ST Ry ERAR AR S
(A) TSl (B) sfe’=

(C) west ar’ (D) famnfea
frfoafaa & @ wF-u1 e fay ot avran w1 fewan on?

(A) waETE™ (B) Ssficim

(C) HrEsiEg (D) st

43.

43.

43.

43.

43.

Who among the following was involved in the Battle of Waterloo?
(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington
O] @ FRERS @R Sive wifee 2

(A) TR CTI#I6 (B) TS @

(C) @ f2beTa (D) &S QMG

s TfFfemE Tex (F SABRER 07 oS f2eer] 2

(A) TR CTI=Mb (B) &R fcFeTeT

(C) «Tew f2perE (D) & <HIEe

TMEMETE T 9R e IR SEersl dtest g7

(A) T s (B) SR 4 @

(C) ueew faeer (D) SIS aTfTe
‘FreRe] il e H Fefafad § @ @ i o

(A) SIfeE ST (B) ¥R feprerm

(C) TElew feeer (D) SISt TR
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44,

44,

Bhairabkunda is a trijunction of which of the following?
(A) Assam, Bhutan, China

(B) Assam, Bhutan, Arunachal Pradesh

(C) Assam, Bhutan, Sikkim

(D) Assam, Sikkim, Arunachal Pradesh

toPe FEfIRe (@l [Aesm e 2= 2
(A) SPH, $HIF, B

(B) P, O, SECIbe] 20

(C) =P, $o, e

(D) =T, fofe, Sreembst eiom

44. o @ FMb BIR FRATEE (STFS 2

(A) P, TOM, B

(B) SPT, BN, SRFATbE 2l
(C) =P, To, Bifes

(D) =P, PIiRFS, SI=Felioet 2ol

44, EFH<A] MEHH 9 AT TRATBRA TSR SR ?

(A) TEm, YdH, ==
(B) 3T, YdH, FEUM=A Jaul
(C) TmEm™, ya, fafen

(D) 31, faferm, Tevmee geu

44. s Freferfn @ R B 37

(A) 37EH, e, =M

(B) 3TEM, ¥2H, €U Jawl
(C) ¥rem, e, fafen

(D) 7eM, fafed, sTev=a Tat

GET IT ON
Google Play
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45.

Which of the following is generally salty in taste?

(A) Snowflake (B) Rainwater
(C) Flowing river water (D) Seawater
e (mRas ET—m A AR 2

(A) SRS (B) I [
(C) @Sl g e (D) ST9RE (11
TR (@0 AGRTS FIH TS 2

(A) IR (B) 3 ==
(C) =aifz® T &@ (D) STICER o
TR Fo=T TUEETS e ?

(A) SR®-THT (B) T@1-7I%
(C) Sem guT ¢ (D) @i &
frefafiga @ @ F9-a1 @ § gmE: Tuhe g 27

(A) femerm (B) @fer 1 g
(C) &t et =t qrt (D) GH3 1 qH

46.

46.

46.

46.

46.

Which of the following mountain ranges is in North-East India?

(A) Barail Range (B) Shivalik Range
(C) Satpura Range (D) Aravalli Range
AR (@ e Teq-7q sRee wWaEs ?

(A) I9IZe R (B) PRfere =@
(C) Treo[q] e (D) SR 2RHGE
eox RfeMelem T I Tegd oY SRiEe 2

(A) @RIEE R (B) PRIfeT “Recd
(C) Ao~ Rt (D) SRIRAME “RoCsd
MR o« ESIET AT |T-THST qRard g7

(A) SEA BTSHET IR (B) farenfersr g @it
(C) TaYY TS AT (D) 3TRTEC g AT
frefafad § @ &wH-H 9dq Ee qarat WRa | 27

(A) R ot (B) faranfersr 2oft

(C) @ageT oft (D) TaEc Tdd 2ft
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47.

47.

47.

47.

47.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.

(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

faferee (@ Tfe orym 2
(A) =TEFEl7 Seq 93 (IR *1PTS ey |

(B) weTalel SRed e (T 1o Jrey |

(C) SR S fCPIRa B1ol7)g ©Req G+ (IR =T Jrey |
(D) “[SCh]1 ©Iqed G4 (FRT 1T ey |

v @ [ wrwm 2

(A) FIFFIR7 SRCST GI(H (FHOTS 2% |

(B) eTal?l SRCed > (FHHOTS S |

(C) S € FCHRE B717]G SRCed I (FHHPTS S |
(D) oo SRCST G (FTHFTS W% |

et 59 fegfrr MRt M

(A) Seafsan SRaH T s Gere TEst

(B) HTeAfgun YR T8 ferest G TS |

(C) 3T=TH 3 T s) fgwmamn vyraf 7 fres geiem Tgsi |
(D) Ygaa WAt T8 feesTl g TEs |

frfafiaa @ & F9-a1 o Toa 27

(A) TeTEIT THA T T HAMd T 2 |

(B) WIGTET WRA %1 T haeMiad JesT B

(C) ¥ieHH 3R fHHIaR FIUaHg YR &1 T Had Ja9 2
(D) gerl WA =1 Uk ko e 2 |

GET IT ON
Google Play
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48.

The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which
continent?

(A) Asia (B) Australia
(C) South America (D) Africa

(I TRICHIE e RYACI, TFAGI (T4 SF FFoHIE (F21 A9 (2 ColcR 2
(A) @z (B) =cgfem
(C) wf=pel S (D) =fEF=F

e, TFaafe (@1 99 FEOGFE 1 (I TR 7 e Sfoas FCaeR ?

(A) @R (B) GG
(C) wlwe it (D) =l
ferga gial, W el ST ke EraEe oel BRRAS aare!?
(A) Tl (B) Imforn
(C) et AT (D) it

LT, HRUET 3R Fhentdl TR HETET | BIeht Tt &7
(A) TR (B) e

PN

(C) afequr st (D) TR

49.

49.

49.

Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland

RS R el S8 2 [eIarss 2

(A) TENRR (B) (IR =31
(C) == (D) erestes

[evx (el T TEE @B REIEG 2

(A) SRS (B) IR @l
(C) =T (D) Teenre
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49. TEEM FoT SATHIER T2 TeTH T8 f5T =i ?
(A) HIGRTRERL (B) =4 fgu

(C) =@ (D) Frcve

49. Fefafad # @ FF-61 95 TT TR 1 T &9 T 87
(A) HETTER (B) ¥ Fm
(C) T (D) Wrete

50. Sudden burst into the open of hot water and vapour from deep underground is

termed as
(A) geyser (B) volcano
(C) tornado (D) tsunami

50. $OISA SISO “[{1 S9N #M1ell B A~ [REwIei GfRaes fisfe i@ “IReb (@ 2
(A) T zmaa (B) SRl
(€) Befeer (D) P

50. (S BoIY (A AR [T S T @R o7 fisfo 2eq1cs eet

(A) T om9 (B) wceRfaiE
(©) gty (D)

50. it TR BEE g G R @ AERAEE! g
(A) fog g (B) 3% wi
(C) wmHreTE (D) AT

50. et gf & gt § 7 gt 3R AT % IR e FI Fel ST B
(A) TSR (B) SoTeIgwEt
(C) wa=t (D) Gt
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51.

51.

51.

51.

51.

(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights

(D) The Fundamental Duties

fRfeT® (FFCE! SRws R TAmE 7= 2
(A) T ~IfBeEE e N

(B) % g S&

(C) (Tfers g™

(D) (NferF T

TR @G SIaeed Al o 71 2
(A) G ~AROERE e Tife

(B) w3 ik wfiem

(C) (Tfers g

(D) CMfeRe F97

e se YRaf afafse smemm T=t?

(A) TRET T AreeTe

(B) et faeimi @mes

(C) Tfet e

(D) TfeAT AT FT

frfefad & & #9-91 39 IR & |iaas § T8 37
(A) TsT % Fifg-Feves frga

(B) % o fHe3eh AMTRR

(C) wifeTsh iR

(D) HifcT® e

GET IT ON
Google Play

Which of the following is not a component of the Constitution of India?
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52.

52.

52.

52.

52.

A continuous rise in the price level is called

(A) stagflation
(C) hyperinflation

T B99 GHITS Jad (Il 2
(A) BRT®I
(C) wife qureife

(A) frveTor-—RIfe

(C) s q@reife

I AT AT S8 ITAE Rl g8t
(A) TITRITH

(C) TTEINGATRITH

o &R ° fRa gig 1 et s 2

(A) TTRATH

(C) TTEREFAIA

(B) deflation

(D) inflation

(B) SEpife
(D) Jursife

(B) SRFpIfS
(D) JurFife

(B) fewerer
(D) FAFRITH

(B) fewrem
(D) FHITH

GET IT ON
Google Play

53.

53.

SLRC—2024/P-111/ 1-A

What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?

(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

IR 2 & e  (DAY-NRLM)S DAY & 3&m 2

(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana
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Trel A & i (DAY-NRLM)-¢ DAY J61¢S (IR 2
(A) District Availability Yojana

(B) Deendayal Antyodaya Yojana

(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

A WA AAfge BRE (DAY-NRLM)3TE DAY 11 g ?
(A) feafeae afafafefa amr (District Availability Yojana)
(B) dFeamet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dHeTa Tgafesd AsHl (Deendayal Ayurvedic Yojana)
(D) femfede wfawm= ASAT (District Achievement Yojana)

T o sTrsfifeskt fieM [National Rural Livelihood Mission (DAY-NRLM)| B DAY @
31 77

(A) 5o 3uetsgar JASAT (District Availability Yojana)
(B) &t NG AT (Deendayal Antyodaya Yojana)
(C) dFeaTa Agdfes ASHT (Deendayal Ayurvedic Yojana)
(D) e 3uafsy BIEC (District Achievement Yojana)

54.

54.

54.

Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori

RS @@L Toey P 9238 (SAICS 51 FECZ 2

(A) To&¥ (B) SETN@ 19 (21T N1
(C) FffrF 2z (D) fafT &Fs!

A @ AP~ [3R (SR =T A 2
A) To&T (B) SPINS 17 (AT A
(C) T 2z (D) fAfg GRA!
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54, TEAM 99 9 9@l =2t @ auet foeme?
(A) TogoorT (B) 37HIHd SR 8T HHT
(C) fufer gife (D) faft forrt

54, famfofiad 4 9 w-91 su=rme g=ef Trem au g foran wan?
(A) g (B) 3rdiad SR 8veT diar
(C) Tfufer et (D) 73 forrt

55. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)

(D) Central Industrial Security Force (CISF)

55. fWHRIAT (R0 S9q (FRIF T SR qifRa! 7= 2
(A) TSRO Toge TRl (ICG)
(B) [F ST 391 (SSB)
(C) 1B 3 oIS (NSG)
(D) TR Srmifa FaErerifza (CISF)

55. T (PRI SICST (PRI IR ez w7 2
(A) SRR T7pe TERRIRAl (ICG)
(B) 1E T 791 (SSB)
(C) B F a6 (NSG)
(D) @R Srmiee Faerer@ (CISF)
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55.

55.

TR So= YRaH e grfermen Tty g a=?
(A) zf<am wE e (ICG)

(B) & fomr s/t (SSB)

(C) M fafwsfdfe mE (NSG)

(D) T=ed T fafrsfife wd (CISF)

frefafaa 8 @ #F-T1 ard a1 FET qerE sTRelt 59 T 27
(A) WA deterss o (ICG)

(B) 93t €M1 97 (SSB)

(C) T granr ME (NSG)

(D) s 3fenfies gram s (CISF)

GET IT ON
Google Play

56.

56.

56.

56.

56.

What is the chemical symbol for silver?

(A) Ag (B) Si
(C) Sv (D) Au
H7R AT FRF© 5 2

(A) Ag (B) Si
(C) Sv (D) Au
TR APTRE 2O Pl 2

(A) Ag (B) Si
(C) Sv (D) Au
TR0 Tt fefFrfom an?

(A) Ag (B) Si
(C) Sv (D) Au
=idl o1 TEmEE g =1 27

(A) Ag (B) Si
(C) Sv (D) Au
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58.

58.

58.

58.

58.

Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak

1 SRS, 2024 ACICH SR JSHE TGS (I 2

(A) TR I (B) C(TFIF® G2

(C) & BT (D) o T

1 SRR, 2024 SACoCs TR JeaEs a5eife & 2

(A) I S (B) (TS G

(C) ce 2ee (D) AR

2024 TrEeE 1 SgaTR @rferfem smfer sterg g eerfife are
(A) SR 3TEME (B) &lcs <F9

(C) & =mged (D) feeft gen

1 ST, 2024 1 T TsT JHTEHT 1 TFIRT HH 27

(A) SR A& (B) SHIcE TH

(C) st fored (D) =Y g

Which of the following is considered as the powerhouse of an animal cell?
(A) Nucleus (B) Golgi apparatus
(C) Ribosome (D) Mitochondria
fraferfie @GR 21 @R *fe Sq@ el [Reas 341 232

A) @R " (B) a’=i& Agw

(C) TN (D) 25 fesa

R @RI 2 (IR e T RETR [easa 41 232

(A) e (B) oIS 3%

(C) AzCACE™ (D) RCHRRG
Terf ssE s Sefgema amm M aife g8 ot sene

A) foefa fire (B) TR Tem

(C) TEe'sH (D) =g =
frferfaa o @ ford gy FIT3TRT 1 JTeRETSH WHT STTdT 37

(A) Hsh (B) et oot

(C) TEEm (D) TSI~
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59.

59.

59.

59.

59.

(A) China

(C) Myanmar

e (@em orre e[ S 7R 2
(A) B

(C) T

Teod (T OIDe @b (+R 2

(&) B

(C) SRI

TR o6l FTeEl ol & T’

(A) ==

(C) HIFHER

faffaa & & fha 2o & oggde 7€t 27
() =

(C) ™MR

Which of the following countries does not have a seashore?

(B) Afghanistan
(D) Iran

(B) SIpaIIfeie
(D) 291

(B) SIpaIIfeIe
(D) ZM

(B) ATHIEAT
(D) T

(B) THITEAH
(D) T

GET IT ON
Google Play

60.

60.

60.

60.

60.

(A) Denmark (B) Sweden
(C) Canada (D) Iceland
+JfRFT 32w A7, Acere @FRLe O = 2

(A) (TR (B) D2CwA
(C) el (D) SI2bCETs
089 376 B2l AT (I (09 SR 2

(A) CTTIRE (B) F2cu
(C) el (D) SA2HeTS
FeaH e 50 frciet a9 SRR aRm?

(A) STHTH (B) gz

(C) =TT (D) ATEHTS
forva =1 g w21 §, Mecle, form gw 1w 27

(A) <R (B) weA
(C) =TT (D) 3MMEHcTe

The world’s largest island Greenland is a part of which of the following countries?
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61.

Consider the four numbers given here :
I. 376 II. 629 1. 921 IV. 397
If the digits of each number are arranged in ascending order, which new number
would be the smallest?
(A) III B) I
(C) I (D) IV
eie BIfRGI Y] RCTvel 59 -
I. 376 II. 629 III. 921 IV. 397
2IfSCBT IR PG| CHEFTS TGICE (! TG R A [eres 277 2
(A) III B) I
(C) I (D) IV
o v B A R e
I. 376 II. 629 1. 921 IV. 397
2Ifefb FMRAR TFBfIT THEE eIl 2¢e, (P Toa A2 *Faoy 2¢q ?
(A) III (B) II
(©) 1 (D) IV
B R ST T 2

I. 376 II. 629 . 921 IV. 397
Sfe AFmHmEEl AN FAFERE StaF™ SIiREE 9@, 3l 96 MeH SENEET safigs
ERIGEISIHICK

(A) III (B) II
(C) I (D) IV
g &t T8 =R st w e il

I. 376 II. 620  III. 921  IV. 397

If T TEAT 1 AN A B FAfed foran S, @t sH-dt = aen ged st 27
(A) III (B) II

(C) I (D) IV

62.

Find the odd one out.
(A) Sparrow (B) Crow
(C) Bat (D) Peacock
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62. e *77co! 517 TSferes |

(A) =R (B) el

(C) < (D) < B4R
62. [T e (79 T |

(A) vER (B) <I<®

(C) e (D) =R
62. TR HiaE@! TR g |

(A) @@ (B) =rsw@r

(C) memTfer (D) =r=TE
62. 31t = T |

(A) T (B) @t

(C) =mEg (D) ®X

63. Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister
63. 937 FCOLERFS *qeq BRYAE WGERE A 30, — 967 Teq Pg ([ FIHOOR
GG B | AT *Foq PICo (T T 7oA 2
(a) e (B) Sizel
(C) e (D) =@

63. W3 BRCe *[R-93 fMF Pre F@ Nl I, OF SREEE el INE Preme ¢ g
@ | e e *[e-9F A% T=IFS 2

(A) I (B) Promd
(C) e (D) =
63. MR WRArT SNty oAy mierE g, CRf et R ety emafy eee’ feamer|
TR ST Tty wmeeT @
(A) fome B) fos
(C) form INBEEWACEIEIE]
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U TER H IRG hl S W A Y W] 4 Fal, Ik WIE oh fual W IS ok ghalld I
27| wierft, wra @ T yeR wafia 27

(A) == (B) <r&t
(C) =t (D) &

64.

64.

64.

64.

64.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

g ROBOTICSE OROBITSC f25I(d ¥'T 341 =, (908 PROJECTST ¥'T 29
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

It ROBOTICS-¢3J &S OROBITSC 2, 94 PROJECTS-¢J (P 24
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Sf¢ ROBOTICS T a1 OROBITSC, 3fsal PROJECTS T &ar1 SImi=

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

Ife ROBOTICS %l OROBITSC & &4 § hifed fohan Siram 8, @@ PROJECTS & & &9 @
ehie foram STam, &% @

(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

65.

65.

In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?

(A) South-East (B) North-West
(C) South-West (D) East

9Bl ffeEre Fikeg SIQEh! A9T SI9E 77 T SiCR | Piked slare| % wlEE F10e eeed
5191 C, ! TORTE siqeTa 21T FCaT M1CE | 99 SIQeTco!] DORER S qea 2[/ (@l e
99 2

(A) wFEReI-27 (B) Teq-If5y

(C) wFFa-#{f*5x (D) 7R
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65.

@35 BfarFR Frezg 4w qcea GE 7 s | Preem vR B9 v Tce e 9, A
oo <mE 2IFx e | oo <151 (A T Ao @I T 2

(A) wiswel-od (B) Twq-#If*6

(C) wiwe-~f5x (D) 7

Ha JArEtferme fie'f wrstien S erei g fiw'f weei aemety ged
AT S Faar e et def weetien foar weeils aafs ama?

(A) EIAT-HHSI (B) GI-HHT&IfY

(C) WrerT-|HTEIy (D) IS

U fafeamr § 2R 1 s, a9 o fisk & qd i 3T 21 W o TIsk & 3ie Sfeor 1§ i) 1 fus
7, S =frar = fooR & ufem 1 R 7| <fiar & TR @ s = fisw fopa faem & 27

(A) sferor-gd (B) ITR-ufam

(C) afegur-ufzm (D) &

66.

66.

66.

66.

66.

At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph

qeriee 12 . . yaeq w24 15 {fve 05 AR 93 TSI [N @ore T@l 39
o1 2

(A) 64 . fi. afe g6 (B) 84 . fi. afe g

(C) 48 . fi. afs g (D) 36 . fi. =fe g6

«3f5 NS AE= T fers 2o 15 MfI 12 RFeEfivR 1@e o8y ¢t 2

(A) 64 5. fi. afs g6 (B) 84 . fi. afe gk

(C) 48 . fil. afs 94 (D) 36 f. fil. =fe 94

T TSITATHRETE T TR 98 @RS @reten 15 fftea 12 o fifo miem w@m=?

(A) ®=EEE 64 foho o (B) 9@ 84 feho filo

(C) =vermE 48 o fo (D) =vermE 36 o fio

15 fie # 12 foreiivier T forelt Taed 0 Tge o foTT T& &1 &l Tomm W fore TR @ =@
nfeu?

(A) 64 Tho o ufd =T (B) 84 feho o ufd =

(C) 48 Tho o ufa = (D) 36 feho o Ufd =T
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GET IT ON
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67. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. bl TP BIG! SSHITS (FRICH X (TS A6 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. I BRCAME TSI (F *[A(0 (T A ?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. HIIHT TS AieE fogsTa o WigE S ST

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
67. T 3TIS Teaehiet § HIH-T1 W 3fad grm?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
68. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. 7 IS D! (oIS 95 |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. 0% JICT *<M *+S Fee |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. TR 1Y HidEE! Y|

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
68. T T AT W3 I TR

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
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69.
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Which of the following words cannot be made using the letters of MENDICANT?
(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

MENDICANTY S[¥92 2R I FHFIRS @R == oo S =i 2

(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

MENDICANT-<3 SFFa3fe] I92- FC A0 (@I X0 510+ 1 TR 1 2

(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

MENDICANT i SRE®RE! SEEHA ™ o6 Jieisral gHl e

(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT
frfafaa © @ ®F-91 S5 MENDICANT o 3181 61 JUANT ik A&l ST ST Hehal &7
(A) MEDICAL (B) MEDIAN

(C) DETAIN (D) ANCIENT

70.

70.

At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 B) 21

(C) 32 (D) 17

9Bl Iq WS (PRI (P 2AfSffy (e J4 IR Gehl e AR | GCBIRIE ST
(e WRAIF! NS 02 | GBI ST OBy FTo S A20R | ARCIEAT AW CirieE] v
TS @A 3R | (TN 05 qISTICE 2 BCE FIACl, IF (T ANOR QS
G 01 ~[ SO FTe Sz | BRI SF (TR AGq (R R qRCIe
GCEIRIT e (I SRAE PICS T | Q<09 S FRITF e [g 24+ Oz A2 e | I9
AT oo e (o afefafy af2 =ee 2

(A) 19 (B) 21
(C) 32 (D) 17
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70. I A7, B 2 (e aAfeffia @@ i IR g% AR, WP YRR | A T
GEEIFRR I Mo I WCR | RS, GCEIERE AT S T IO | S, A2
TR 5ol Bt IO | FICl, (Tachd 0 I IR 9. (TN T 5 T 13
(A TOR | GBI 3R (TTNICHA WK (TOeR FR2] ARCHS GAR GCBIRIR T | SCHIE €3
FRITCR W0 Mg Q&6 0P TR | IF AT G5 I ¢ 90T ACACR 2

(A) 19 (B) 21
(C) 32 (D) 17

70. - AN HEEd TR BEH AHRI ARITBRET ARl SHW - 9ER - wiEre e |
weq et sty wiver’ amfaeR fSweet | fefsen e fanf sfatstsm aeafeeme | ememn
A e eE sforma SRRl wEErn S iy Aeier e e aiii
e ermfer mfeEna €| e T 3T TR TSRIa S B €, dTetsd TR U R
TSRS THATSHI | 3T AT 3T TSI o Teed gl el | Tl el 2ot arewrT o

RIECIEREC RSP CE
(A) 19 (B) 21
(C) 32 (D) 17

70. o1 T6e ° F© Hi¥a @@ 4 o o ufdHiy v diel 9fd § o3d § 3R A awiel AR 4z
Fh 93 B T | TR Y 1 AR et 5 Ak 93 2| fbsft, wRifEn i 91 iR smed wH W
B ST, SEiF % o & Y T W B | FAET, STHE & ik 91 AR 937 2, I ST Uk
sifom o BR ¥ R T W | TR IR S F e A A @ awlh ofR ueit &
THM 2| ST 3R FATS o ot hadl B8 9 93d ¢ | ol et fohae 991 a1 Tog | 93d 87

(A) 19 (B) 21
(C) 32 (D) 17

71. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank

(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
71. @O RFe (oifdest : Brmal . Rwer sasa 1 2

(A) ﬁﬁ:wwﬁ@ (B) I#TOR : [l : @F

(C) I : (&1 : ol (D) <19I% : (ARl < ST

71. @R Rl e : wa : oEr-9a s 2
(A)?@:Wq:ﬁ@ (B) F[EOR : SRS : =
(C) T : (E19 @ 93 (D) <5 : (RIS @ 79Ty
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oo foT f et - woEEr - el S g9 Y

(A) TAS : ST : foregpe (B) HHER : Hia@ filt : s
(C) W : ferfiit - forerma (D) & T : TARR : S
F-T1 foehed Ufhet - 9T : TRt & quH 27

(A) =&« @ fafene (B)W:Z%Tf\%ﬁlﬁza’%
(C) oM : @ : Tohara (D) e : HMER : AHH

72.

72.

72.

72.

72.

If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7 REAR = 42, TEAR = 44 5§ DEAR = 28, (9(3 FafiRe (FIes @9 % 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

FM REAR = 42, TEAR = 44 ¢33 DEAR = 28 2, O3 (b4 (FFD To1 (Sl 2

(A) PEAR = 40 (B) FEAR = 32

(C) BEAR = 26 (D) GEAR = 31

Jf¢ REAR = 42, TEAR = 44 370 DEAR = 28, 37scll TMERH o ST SISt U &1 ¢

(A) PEAR = 40 (B) FEAR = 32

(C) BEAR = 26 (D) GEAR = 31

If¢ REAR = 42, TEAR = 44 3R DEAR = 28, d fiHfafad & @ ®MH-91 9 Teld adie o
Sirer T 27

(A) PEAR = 40 (B) FEAR = 32

(C) BEAR = 26 (D) GEAR = 31

73.

Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE
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73.

73.

73.

73.

G M 77 IR TR RFech! el 7
79 : SIS el ¢ 2

(A) S (B) fFerl

(C) o™ (D) =/

O 7Wfb 7eTa S ORIl RKpmfs e -
@:Vﬁﬂﬁ%::ﬁ?ﬁ@: ?

(A) =™ (B) 32

(C) o (D) =’

S FiEeE! 317g QemAl qareq e e’ :
ST Y G 7

(A) @ (B) fomm

(C) Tr7erg (D) T

31fcm 98 &l W o fore wam faehen @it
QT-T:WT&I’%::W:?

(A) e (B) Tk

(C) ™ (D) w1

GET IT ON
Google Play

74.

74.

74.

74.

Identify the pair with the same relationship as Child : Vaccination.
(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals :

Py« Breaer P TFRYS @RI orile 5 |

(A) &9 : 87y (B) A : I

(C) Tfew : Foarre (D) &% : ¥W

g : Hereael-99 TCO1 42 540 G TS 9+ |

(A) =9 : 87y (B) I :

(C) Tfew : Joams (D) 21 : 4w

Ty’ TGRAE SRl dHEl T S R

(A) AHSTHE : gfa (B) &R : T

(C) e : W frer (D) e : SRR

SLRC-2024/P-111/ 1-A 54


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

74.

247

T : IR o HH a8 9T SIS ahl Gg= hifer |
(A) FE@R : <@ (B) @M : UMI
(C) e : hieATTh (D) T : ISH

75.

75.

75.

75.

75.

Which of the following words would not fit correctly in the sentence?

The person died of a hit on his head.

(A) lethal (B) fatal
(C) deadly (D) subtle
RIS (P! 7 2we IO 7 TR 2

O ST TS e Ty (202 |
() FOTTS (B) eraret
(C) RIS (D) 17
ISl AR S (U W[ IR @3 00O AT (@R K/ AT e A4’
T
(A) RONTP (B) =errst
(C) RIS (D) =
MERH oo TR AME BRI SYRE @Te S TET?

o AR WA QST 9T
(A) firgema (lethal) (B) ®I¥umE (fatal)
(C) Trgar (deadly) (D) 3 (subtle)
frafafaa @ & F9-a1 wse o § W @0 9 fhe =& 2me

MW ___ 9ER 4 =afh i Wi & T

(A) =Tdh (B) STl
(C) e (D) e

76.

What would be the correct sequence of the following words as per the standard
English dictionary?
1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 B) 4,3,2,1
€ 4, 2,3, 1 (D) 4,3, 1, 2

SLRC-2024/P-111/ 1-A 55 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

76.

76.

76.

76.

TP 2RI SfSH P 278 *PTRd & *RUEACH! 6 2'7 2

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2, 3,4 B) 4, 3, 2,1
C) 4,2, 3,1 D) 4, 3, 1, 2

4B S B SG4TSR 27S B AOF @ Bl 204 2

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2,1
< 4, 2,3, 1 D) 4, 3, 1, 2

T HTHT 30 e fogeTd aW™ aied 16 ST |/ ST ¢

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 (B) 4,3,2,1
€ 4,2,3,1 (D) 4,3, 1, 2

HIeh TS TR o STFHR I A1 1 el hH AT BATT?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3,2, 1
< 4, 2,3,1 D) 4, 3, 1, 2

GET IT ON
Google Play

77.

77.

77.

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

(A) 69 (B) 73
(C) 81 (D) 91

(A) 69 (B) 73
(C) 81 (D) 91
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HIE VoIS SR SRS SASTHE T |
27, 30, 37, 50, ?, 98

(A) 69 (B) 73

(C) 81 (D) 91

3THA I Tl & ¥ SR WA o fore 3 g = i
27, 30, 37, 50, ?, 98

(A) 69 (B) 73
(C) 81 (D) 91

78.

78.

78.

Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined

JFAE W Fq @ ©OR (foeE €%, [y EIrecs o4 MR W @ FEIN e wA |
(SETHRF THO| F~o=FS I (e T3 #1792

(A) “ER PHCF (SO BI%1F

(B) &< S (enIfed Tl 0

(C) Fare SIS _ICSISF €4

(D) ey 7 af

ofF FeecE cenifed (b o1l ace Wik ¢, [ Farel, @ o@QR (6 I ¢ Sl (@ 7l
T | OI TSl e S (PG @ T 2

(A) R SRR Cenlfed (bea <ol

(B) @1 @R (efe @2 ThHoR

(C) T fomerced Seay e

(D) Teefme =1 T =1
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78. UgsEn mew SAfdtge A S ar, Tuw ugsitgg Sifee Raarn ageift amaen e

78.

B farferit | fomaely STl A e SeR e ?
(A) et sfafgs awfEw
(B) ugsll 3T Safd=m wwe TSh
(C) Toyamn wramfs Toe shfe

(D) AT E

ugt, Sfq @ et &9 1 g et ], Afr o, S ougdt @ ol 8, St § foR ugeht e 21
IRt S o o § frefeifad § & @ et ST Hehdr 27

(A) ugdt i w7 @ sfa @ 31 2

(B) gl 3 sfq Y «feE a9 ®

(C) T diqt & w=@ @sft 2

(D) &= &l feran S geat

79.

79.

79.

At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter

(C) Niece (D) Sister-in-law

PTG G YRS A2 & SSCTOI TG T, ‘(08 ([N ¥R T2q GFq AT
S’ | TR CTCS SSCToreq Wred T54 5 2772

() 43 (B) Sl
(C) eIfart (D) T

G FCACEA SRR, T G SeeTe e BEre wea Aceece, Tl SME i
GG (ZCTA O’ | SO S FeTE M Froid TP 2

(A) (B)
(C) =Ify (D) =T
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T R O SETRITEE W gl formm guam, o onfy fegasnf
oo frarenty forme | wergR fomrit e @1 wir S

INIRELIE (B) et

(C) forme (D) forrT

T Hicisl TR H, YA § Teh STHAT 31 3T R A G Fal, a8 B A % Fohaild 9
oqiett 77| ST s AT 61 AdTeT O T Hey Y

(A) ==t (B) s&

(C) wrstt (D) 73

80.

80.

80.

80.

80.

Find the best option to fill in the third term :

Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system
(C) Rocket (D) Radioactivity
TORI 2MCHl ~[9 FRAC TS RIeCH! fofioa 39

TR« T 22 2 : FARFR
(A) TS AR (B) TS fFm
(C) I'CF0 (D) (&Rl
T b et T TR R g

TRl : fChe 2 2 : IR
(A) & AERE (B) Rl o
(C) B (D) couiETel

T WSEE! 2T WA e et arr’ -
STATSHT = 2 =2 7 2 FATHEH

(A) & TREREE™ (B) Tfasraf=s @t

(C) The (D) et wmnfy

JATa 9e I WA % T HaraH e @i -
W&W:W@?::?:Wﬁ?ﬁw

(A) T qRE=R (B) GI-hiseh omeft

(C) Tehe (D) Yeehafifar
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81. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is

(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

81. (I GBI MRYT AAW 40% Iz 91 29 HF ©OF PEe 40% 2P I 276 | *roi 2IR[ers
TREICHR J2 ARG (22

(A) 16% I (B) 16% 3™
(C) 32% 3™ (D) SRaee

81. &I AT 40% I T W @R FIGICS 40% M F41 27 | <ok ffae swanfoa @b

e 2e
(A) 16% I= (B) 16% Z™
(C) 32% 2F (D) wiRAeS

81. dad HHH foama! T 40% S SR 3T 3919 40% THRAT S| SiE<ieTE o foamE

3T HIAEHTT STt
(A) 16% del (B) 16% @H &l
(C) 32% @H &t (D) S GeTEme

81. T T H 40% il Ihg I 5 3R 34k T8 40% T & T | §& H Y& qiaa wfaerd 2
(A) 16% i gfg (B) 16% @ht =Ht
(C) 32% it =Ht (D) @I FeaTE &

82. If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years
(C) 50 years (D) 45 years
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82. IM A, B IF CJ 9T I 22 28 IF B |F C J 9T I 25 Jd, (93 [ 7|1 9 q579
rge A3 T 29

(A) 25 929 (B) 35 9=
(C) 50 q=F (D) 45 3=

82. I A, B € C-93 5T¢ T 22 7 €} B 8 C-9F [T T 25 I27 2, O @3+ (AF 9 =
7 A-99 T F© 3CF, [l T |
(A) 25 = (B) 35 =4

(C) 50 <= (D) 45 q=7

82. §fc A, B 3 C T 7T d™isn 22 dER 3 B AR CH T S@isN 25 d€Red], 9 MR 3d

AT ST S8 SH?
(A) 25 SR (B) 35 R
(C) 50 =ERr (D) 45 =ERr
82. AfG A, B 3R C & 3fud 311g 22 94 a1 B 3R C I 3f\d g 25 99 2, @ 39 ¥ 9 A a8
Al 3T J1d shifS |
(A) 259 (B) 35 a9
(C) 50 = (D) 45 ¢

83. The smallest among \E, \E, \/% and \/g is
1 1
w [l o [l
1 2
(©) \/; (D) \g

SPACE FOR ROUGH WORK
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8

W

83.

83.

83.

1 1 1 2 _ o
\g, \g,\/;w\gomwmmm
1 1
) \g (®) \g
() \E (D) \E
1 1 12 o
\g, \g \/;aq\\g G Ty U A 2
(A) \E B) \E
() \/E (D) \E
\F \F \Faﬁfﬁﬁmwﬁ@@rﬁm
2”3 V4 3
(A) \E B) \E
(©) \E (D) \E,
P L e 2 i g
2 V3" V4 3
(8) \E (B) \E
(©) \E (D) \E

GET IT ON
Google Play
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84. Iffzgzg, then XTYTZ i5 equal to
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5
84. zﬁ%%=%=§,mx+g+zami’a
(A) 2 (B) 3
(C) 4 (D) 5
84. zﬁﬁ%:%:%m“i”—mw
(A) 2 (B) 3
(C) 4 (D) 5
84. R X =Y -2 geen XTYTZ oy g swim
3 4 7 z
(A) 2 (B) 3
©) 4 (D) 5
84, g XY _Z XYY o gnm
3 4 7 z
(A) 2 (B) 3
(C) 4 (D) 5

GET IT ON
Google Play
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85.

85.

85.

247

85.

Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is

(A) 18 (B) 20

(C) 22 (D) 24

7B TR 2 : 3 TPITS TR I FROT oLALT. SF 7. 9.-3 F{REE 96. A YBH o
2z

(A) 18 (B) 20

(C) 22 (D) 24

b FLII ST 2 ¢ 3 R SICHR 9. 8. G ;Y. -] SRR 96. IR {oA (5T 29

(A) 18 (B) 20

(€) 22 (D) 24

A4 foom sgs@mEn 2 3 A foERf e o g H anseTEe 96. o famm
HFA SRS STE

(A) 18 (B) 20

(€) 22 (D) 24

3 HEAd 2 : 3 AU U § IR ITh HedH HHvEds 3R T SHEE B UE%d 96 §1 a1
TRt 1 A 2

(A) 18 (B) 20

) 22 (D) 24
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86.

86.

86.

86.

86.

The value of %82 is
(A) 1
(C) 2

%/873 T 2’9
(A) 1

(C) 2

¥82-47 7

A) 1
(C) 2

¥s2 4 amm

(A) 1
(€) 2

82 mam
A) 1
C) 2

GET IT ON
Google Play

(D) 4

(B) 3
(D) 4

(B) 3
(D) 4

(D) 4

(B) 3
(D) 4

87.

A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55
(C) ¥270

(B) ¥O
(D) ¥45

SLRC—2024/P-111/ 1-A
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87. (I 9T TP foviTe & R IRcE a¥=g @ @@ 47 1@ AR 2w, 57
AfSRICHICa AfOq 4o 7@ ='csi T 120 b A0 | G Jieez G2 dfepie & 105 R
A IE (FICA S [T TP DA 3 T2 b1 flcd | 3 W2 WS [e2Seq J0 IR

(A) T35 (B) ¥O
(C) 270 (D) 45

87. &b B ~IfFwa o1 «Ffo =P 2fevica RN T @ e[ 1@ Bsd 3@ 7 8 ofe
Qe €120 (G @1€T || GI& Ffe T 105 [RE@e @ @32 @i wfeae wifqwe
RfScst <1 ¢g 3 TPT @0 (@ | 3 WO (AICF ©IF (W16 SR 3¢

(A) ¥55 (B) 0
(C) €270 (D) ¥45
87. WY ®IEIN ®HIFE U YA THE SIeHEE o TS BHEA SEI| U™ BHEA ST

FEAHT T 120 Gl @ A1 ANGAl | 99 IST o Bl HEAHE € 105 SHT GFI 3T el 3%
T BIeueEH for o et g 3 @nfaat| g 314 e faerify g s sme

(A) T35 (B) 0
(C) ¥270 (D) ¥45

87. T wH T fyaw it 7w ww ffda Al ww 7 % 37d A ST @ S, Afeh 3EE uesh S W
& 120 it Tl e <ft It 21 TH ARE 3@ T T 105 w1 Faw war g 3R T foret erfafer
Tfer &1 e R 3 wE 9 SR T@dn 21 3 HEH o 37 H IHeh! 8 3 Bt

(A) T55 (B) €0
(C) ¥270 (D) T45

88. The count of prime numbers between 80 and 100 is
(A) 2 (B) S
€ 3 (D) 4

SPACE FOR ROUGH WORK
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88.

88.

88.

88.

GET IT ON
Google Play

80 ¥ 100 I TET® ST (NfeTss 72 (F35! 2

A) 2 (B) 5
(C€) 3 (D) 4
80 W3R 100-9F ¢ T[FS (Mol 74N FM 2

A) 2 (B) 5
C) 3 (D) 4
80 W 100 T TSa Hi=e™ Ter 3HfSHT g7

A) 2 (B) 5
C) 3 (D) 4
80 3T 100 o= 19" geast i fimd) 2

A) 2 (B) 5
(C) 3 (D) 4

89.

89.

89.

Find the value of [(107 +102)+ (103 +1072)]=10°.
(A) 100 (B) 200
(€) 2 (D) 1
(107 +10%)+ (10° +1072)]+ 10° T N fef 555 |
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (103 +1072)]+ 10°-9g N fosfg <ot |
(A) 100 (B) 200
(C) 2 (D) 1

SLRC—2024/P-111/ 1-A
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89.

89.

[(107 +102)+(10% = 1072)]+ 10° 7 7 fag|

(A) 100 (B) 200
(C) 2 (D) 1
(107 +10%)+ (10° +1072)]+ 10° = M J1d FfU|
(A) 100 (B) 200
(C) 2 (D) 1

GET IT ON
Google Play

90.

90.

90.

90.

90.

If A:B=23, then 144A : 36B is

A) 4 (B) 12
(C) 3 (D) 16
I A : B =3, (93 144A : 36B 3 T+ 3]

A) 4 (B) 12
(C€) 3 (D) 16
IM A : B =3, 94 144A : 36B-3 I+ 2J

(A) 4 (B) 12
(C) 3 (D) 16
Jf¢ A : B =3, 375l 144A : 36B T 9mn

A) 4 (B) 12
(€) 3 (D) 16
afd A: B=3,d 144A : 36B & 4H ¢

(A) 4 (B) 12
(C) 3 (D) 16
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91. The fraction equivalent of the recurring number 2-19 is
271 217
A) —5 B) -5
99 99
219 291
C) —— (D) ==
90 90
91. C*M3?[feis RN 219 9 Fgen 21N (2R
271 217
(A) —= (B) =—
99 99
219 291
C) —— (D) ==
90 90
91. IS YN 219 -4 F@ely I 23
271 217
(A) —= (B) =—
99 99
219 291
€) — (D) =
90 90
91. 219 NEYURAE AEABE SR THE SRaE @ieal Tg
271 217
A) —o B) —o
99 99
219 291
C) —~ D) -~
90 90
91. 3Ed TEAT 219 F THIA 3 T
271 217
(A) —= (B) =—
99 99
219 291
(C) —~— (D) =—
90 90
92. The largest of 26, 35, 4% and 5° is
(A) 26 (B) 3%
(C) 4% (D) 53
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92. 2° 35 4% w53 FANFEHR A AR FLACH B
(A) 26 (B) 3°
(C) 4% (D) 53

92. 2°, 3%, 4% @k 53-97 Wy JTEAH 27

(A) 26 (B) 3°

(C) 4% (D) 53
92. 2°, 35, 4% am 53 T e

(A) 26 (B) 3%

(C) 4% (D) 53
92. 2% 3% 4% 353 4 us@ W B

(A) 2° (B) 3°

(C) 4% (D) 53

93. For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) 7m (B) 14n
(C) 21n (D) 28n

93. T BiECHE EICERE CF@e (4l VF @ (96 (ATAS [Bl ool AT WRCE SR
SIGFICHICT =5 3 A® W | A bR 59 TPTw 70 (5. . B, (98 C7ICTe 1060
ol #A1e BIRCFTC e 212 (W19 95pe) Shoar i 2
(A) 7m (B) 14n
(C) 21n (D) 28

93. T R WCARE CFca =1 IR @ g6 ~cee o 7eel ABCHCER AN BIPIE el
e 7)ol =7 | AW AREER R AP 70 G, WL =, ©@ 106 T wiceca AEceoa

wfeay 391 79 ([WoIea) e
(A) 7m (B) l4n
(C) 21In (D) 28n
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93. U TTEehdl AT Jofe, forl Uearet @a 2 Or fhidsar, fmfy aremn w= 3 arfifeet) gfs
HTEehdd M@ @@Em 70 ¥, f1. S/, 3fsen Yo W 10 GR hiisen, @gshen s@ MW

(forerma) @ReATTH?
(A) 7m (B) 14n
(C) 21In (D) 28n

93. U HiEfhal TaR & folu 717 3@ o {6 wedes a1 qui Yefom & forw weferat 1 emmem afgan 3 qui
TS ST 2 | 3¢ Trsfeher o ufed 1 B 70 Wo Hio 7, @ 10 wui Usfom § wmsfa s @ A

Tl (i H) ®
(A) 7m (B) 14n
(C) 21n (D) 28n

94. The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2+/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm
(C) 4 sq. cm (D) 442 sq. cm

94, bl A faged oY S Two[ 7 A W ercol %4 i 242 (6. . | fagER

G
(A) 2 3 ¢o. fi. (B) 2+/2 3 ¢v. fil.
(C) 4 3o 5. fi. (D) 4+/2 3sf ¢5. 3.
94. &3 M fagrem R € Twor #(fwe A G91 Po " oy 242 ¢ [ 1 fageioa
e 23
A) 2 35 @1, f. (B) 2+/2 3sf 1. .
(C) 4 35f ¢, . (D) 4+/2 3sf 1. .

94, TH WY STEEUME g AW SRl Maer e e faft 3fy st SR
o2 4. .| 9 smErfHgmi wifern

(A) 2=t @, fa. (B) 242 =t @, fa.
(C) 4 =t @, fa. (D) 4+/2 =i &, fi.
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94, TH GHHI P 1 ER 3R IHAT S48 T § Ser ¢ 3R diadt s i wars 24/2 "o Hio

21 Bgs #1 @awa 2
(A) 2 =t Fo o (B) 2+/2 @i ¥o o
(C) 4 =t Wo o (D) 4+/2 =t Fo o

95. In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42
(C) 49 (D) 56
95. 13 7[l W8 1 TFF MY @I bl e TS 4F FFENER JA 7R S{reqrz.
2'e | OB AP 2= 761 R R F 77 | G2 751 R P 9T (>
(A) 35 (B) 42
(C) 49 (D) 56
95. 1 iy W 2o ST MG AR (AS T (&T TR AR (ol 207 | FAEBYR (AP
21 7f6 AR fCv 1 2 | G 715 AR I 29
(A) 35 (B) 42
(C) 49 (D) 56

95. 1 S JNEHAE qM IARH ANEHR TH S IASHGREN SEREAE . ST6E | ATAHAEAhR S
Rmf "M 7 SHASERRE! G TR S HH 7 SHSHGR STt ST

(A) 35 (B) 42
(C) 49 (D) 56
95. 1 ¥ IE TH dTcll FMaR Teed 6l S@en #, wft a0 @ed g1 < 9t &1 99 § | yum
7 gemet R fomm e g1 7 demne & A g
(A) 35 (B) 42
(C) 49 (D) 56
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96. Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4A-B)
©) A48 (D) 4AB

96. YOI MM A WIF B I @S 3o A€ C CFII[I1 ’# | 78] BIofe AT 2} B [l 39 35
FC D AT | C-DF A TFE BT A FCE AFRIPCE! 2°9

(A) AA+B) (B) 4(A-B)
©) f:rB (D) 4AB

96. TG =5 A € B (3 AW @I T & 4R Tof F¢I C 1S AW | TS 407l A (/e B [l
T 2 @R FoAe J5f FACE D NS X | A 8 B-9F AR 29N C — D (F 4™ FACT 20

(A) A(A+B) (B) 4(A-B)
(C) A4B (D) 4AB

96. A 3 B IANHME! IETEAH AR H@ & fig+ ¢ Aqam@| A wifEe B @t A fwm
g A T At & faga D A9em| C - D @ A 3R B feeTera SiRHmse

(A) A(A+B) (B) 4(A- B)
(C) Af (D) 4AB

96. C UTH %4 & foTu Ugat 31 G&sT A 3T B ohl SISl Sl @ 9T 39ehT 71 TohaT STl 2 | 37Tl =R/0
A, AW ¥ B & 921 ST & 3 D " 1 & fow 39 gftors =1 anf foean strar 81 9fom ¢ - D

Fl A 3N B % &Y § Uk HH T E
(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB
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97.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3
€ 5 (D) 2
Tred B AT 12509 779 FEce 9Bl 7j<faaf FR2y ¢l AR 2
(A) 4 (B) 3
€ 5 (D) 2

STfE T TR AR 1250 (F @ FCE 7o 95 TR NS IR G FHof e |

(A) 4 (B) 3
(C) 5 (D) 2

1250 @ 377g &7 GIAEAre 6l GARH SIS SIS |

(A) 4 (B) 3

(C) 5 (D) 2

T ~JJaH T J1a i, 5" 1250 1 T qUf a7 99 o fore Jon foRan S =te |
(A) 4 (B) 3

€ 5 (D) 2

98.

98.

When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is

(A) (B)

©) (D)

NSNS, BNS NN
N|Ww WIN

GBT SR T 4 (T S 295 9 (T 7F FICH SAKON ARSCIN (o110 | S2ACBI (=R

(A) (B)

(€) (D)

NSNS BING U N
Nw WIN
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4B SIURC FTACE 4 AR GR ZHCF 9 T B 51 20T BN Teeh A | il 2w

) ®

S o) 7

St R A 4 S AT T e o o, A S s ff) 3
ElEIEEIE el

) < ®

© > o) 5

o foRelt firet & o791 1 4 @ R = T 9 ¥ TN FoRen ST B, A fe Sae st B e i @

) ®

© = o) 7

99,

99,

99,

At what percentage of simple interest does an amount of money double in 12 years?
(A) 91% (B) 81%
2 2
1 1
(C) 8=% (D) 9=%
3 3
] OO (FICA| Jo 12 T2 @ 139 20 e 7o 29 [P 2'F Al 2
(A) 91% (B) 81%
2 2
1 1
(C) 8=% (D) 9=%
3 3
ST IO T XTI 2ACT Jore 12 T2 s 272
(A) 91% (B) 81%
2 2
1 1
— /0 — /0
(C) 8=% (D) 9-%
3 3
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99

99

. HFE STEICE! SR o g1 Tl g8 e 12 SERE o SATEe! B S ¢

A) 919 (B) 81%
2 2

©) 81% (D) 9=%
3 3

. TR 7S o foha wfererd W Rl o=ty 12 9wt # <Y 2 STet?

A) 919 (B) 81%
2 2
1 1
(C) 8=% (D) 9= %
3 3

GET IT ON
Google Play

100.

100.

100.

100.

100.

The ratio of the radii of two circles is 1 : 3. The ratio of their areas is

(A) 1:6 (B) 2:9
(€ 1:9 (D) 6:9
75! 99 PTG 2@ 1 : 3. IS YOI (FaFor SIS 2]
(A) 1:6 B) 2:9
(C) 1:9 (D) 6:9

b J0eT IPICHT TS 1 @ 3. Ol CRARCET Tl 2o

(A) 1:6 (B) 2:9
€ 1:9 (D) 6:9
TG A TEEmRE TeEE 1 : 3. fmri st s
(A) 1:6 (B) 2:9
€ 1:9 (D) 6:9
31 Tl Y Breanstt 1 SguTd 1 : 3 B 1 S &hell T TUTd BT
(A) 1:6 (B) 2:9
€ 1:9 (D) 6:9
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101. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600

101. 1003 100% I =91 200 T 200% (@197 e FoTFe] 2°9
(A) 300 (B) 400
(C) 500 (D) 600

101. 100-99 100%-49 3y 200-99 200% 91 FCET FeRFe] 20

(A) 300 (B) 400
(C) 500 (D) 600
101. 100 100% 30 200 200% @ T TFTH
(A) 300 (B) 400
(C) 500 (D) 600

101. 200 & 200% H 100 &1 100% SIS 9 Gy 91e 2
(A) 300 (B) 400
(C) 500 (D) 600

102. If a+b=8, b+c=20 and a+c=18, then the value of a?+b?is
(A) 34 (B) 43
(C) 46 (D) 64

102. I a+b =8, b+c=20 IF a+c=18, (B a’ + b2 I I 2’7
(A) 34 (B) 43
(C) 46 (D) 64

102. I a+b =8, b+c=20 93 a+c =18 27 O@ a2 + b2-«d W+ 3¢
(A) 34 (B) 43
(C) 46 (D) 64
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102. Jf a+b =8, b+c=20 AW a+c=18, Al a? + b2 T AMT
(A) 34 (B) 43
(C) 46 (D) 64
102. At a+b=8, b+c=203Ma+c=18, M a?+b2 FMAA 2
(A) 34 (B) 43
(C) 46 (D) 64
103. If 2% =32, then the value of x is
(A) 4 (B)
(C) 6 (D) 7
103. M 2% =32, (OB x I I 2]
(A) 4 (B)
(C) 6 (D) 7
103. 7w 2% =32 2, O x-9F A 27
A) 4 (B)
(C) 6 (D) 7
103. Hfe 2% =32, ¥setl x T wm
(A) 4 (B)
(C) 6 (D)
103. 7fg 2% =32, Al x F TH &
(A) 4 (B)
() 6 (D) 7
104. The sum of 5 consecutive odd numbers is found to be 95. The largest of the

numbers is
(A) 17
(C) 23

(B) 21
(D) 19
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104.

104.
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247

551 G S A @I9RFE 95 (7M1 o' | FRACILHE SABIRSLF TG IR (22
(A) 17 B) 21

(C) 23 (D) 19

55 GRe SR TR @ISR 95 NG (ofT | MRS qeay IzeAs 2@
(A) 17 (B) 21

(C) 23 (D) 19

HIRA WA 5 990 T SHSHGRA ST 95, sfgs Sfeq sHfwmET srem
(A) 17 B) 21

(C) 23 (D) 19

5 SHATTA s Geett 1 A 95 R ST B | G <l G B

A) 17 (B) 21

(C) 23 (D) 19

105.

105.

105.

105.

105.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7

€ 4 (D) 6

I IS R4 34p5 (BT 9 @ [Fo%m 2, (98 pI WA 27
(A) 8 (B) 7

(C) 4 (D) 6

I wfiE 140 34p5 B 9 =a1 [orem =7, OIRee p-93 W 2@
(A) 8 (B) 7

(C) 4 (D) 6

Sife guifires SR 34p5 @ 9 ST TASTAN, 3Tsel p i AT

(A) 8 (B) 7

(C) 4 (D) 6

Ife gymed GET 34p5, 9 A AT B, @ p I AN B

(A) 8 (B) 7

(C) 4 (D) 6

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-A 79 [ P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

106.

106.
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106.

The maximum area of the circle that can be drawn within a square of side 4 cm is

(A) 412 cm? (B) 4n cm?
T 2 n? 2

(C) - cm (D) cm
4 4

4 5. . Ar2q I9(CFg GOR fooae a2/l I€ GO AEH CFawel 27

(A) 4n? <sf . . (B) 4m 35 (5. .

(©) %zm‘ . . o) * 2of (5. fil.
4

4 1. . AERMHE @ I9fCFad foo@ SHce -1 Jred TET® CFaFel 201

(A) 4n? <sf &1. . (B) 4n 3sf ¢1. f.

(©) %zm‘ @i o) ™ 2of 1. .
4

4 9. fg. srafs mar @i foee M eAm sEat 2t et
(A) 4n? =t @ fin. (B) 4n =t 9. fir.

CEEER D) faﬁa. i

4 o Ho AR & Tk =1l & ofiat T S Th a1t o1 1 Aferehaw & @
(A) 4n? =t Fo o (B) 4n & Fo Hro

() %aﬁ@o o (D) ’faﬁao o
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107. If today is Sunday, then the day after 92 days will be

(A) Saturday (B) Friday
(C) Sunday (D) Monday

107. 3 A& € 21, (908 92 e« J99 a1 2'7
(A) ™ (B) ®&A_
(C) A= (D) CTR™

107. I =& IR 27, Orzce 92 e 277 et 2@
(A) == (B) W&
(C) == (D) CTRER
107. Jfe feaf @ foem, steen 92 wmfy 3@ @1 9F SrTA?
(A) &R (B) heR
(C) Termm (D) TUaR
107. afe 37t o B, a1 92 fedi % =g w1 feq g
(A) rHeR (B) Yl
(C) Termm (D) @HaR

108. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2
€ -2 (D) -4

108. (PG G YA oA #11 Ao ol @ RKemsl FRea 77 G2 ARBICBIEE. CAdl T |

SREIICOT (202
(A) 4 (B) 2
€ -2 (D) -4
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108. <0 2ws TR for @ FANGa 95 (AP [esl F1 2@ ARG RO 7 Amibe. wnew

TR | R 23
(A) 4 (B) 2
(€) -2 (D) -4
108. Sfc AFE FANHIH sHiftmE o arsrermemrel A, e o o sHfsmeEEn s fo=
ST
(A) 4 (B) 2
(€) -2 (D) -4
108. S« forehl wen 1 diF AT 36 wen & @ uer fem s @, At ofomm ad gen B ) a8
T B
(A) 4 (B) 2
(C) -2 (D) -4

109. In Roman numeral, XCI represents the decimal number

(A) 41 (B) 21
(C) 91 (D) 111
109. (@ Yyl XCI @ el ™IS FRYICB] (202
(A) 41 (B) 21
(C) 91 (D) 111
109. @M =7 XCI 71 fofee w1 »Ifs 71anfs =a1
(A) 41 (B) 21
(C) 91 (D) 111
109. WM Rt XCI 1 awifies smfsmmn s
(A) 41 (B) 21
(C) 91 (D) 111
109. U 37k § XCI 59 axmera g &1 Ufdfificd st 2, 98 8
(A) 41 (B) 21
(C) 91 (D) 111
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110.

A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m

(C) 11 m (D) 12 m

13 . | ©<el TR Ty (rdle @9 (R [ SCR S B9 €0[E JqCol 5 . Twere
W | (AR AR S G4 9o J99 A6 S iF 799 (20T

A) 9 . (B) 5 fi.
(C) 11 . (D) 12 f.

13 . el @fb 2 qlb Tor3 (TSACETE A TSI (E W (O TeAeaq A 5 .
THOR TEFS | (TEICET WO GR BT TCH 2T T S 79 2

A) 9 . (B) 5 .

(C) 11 . (D) 12 .

13 . TMieTe et 7@t AR SEmE Teit 5 . shorgae 9FR gFH el | ST I
TES St Merfify Tfefm e s9?

(a) 9 fa. (B) 5 fi.

(C) 11 fa. (D) 12 f&.

13 Hio el Teh WGl Uh FHeATaX Sl W gohl g8 ¢, feenl a5 o il F=mg w &) dan
% Tl R 3R =ie o f=ret fR o o= 6 afos gl ©

(A) 9 Ho (B) 5 Hto

(C) 11 Hlo (D) 12 #io
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111.

111.

111.

111.

111.

The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 (B) -1

(€) 2 (D) 3

2,-1,3, 1, -2, 5, 6RAIGFICOR IL™ (202
(A) 1 (B) -1

(€) 2 (D) 3

WSS 2, - 1, 3, 1, -2, 5, 6 -49 T 29
(A) 1 (B) -1

(€) 2 (D) 3

M w2, - 1, 3, 1, - 2, 5, 617 Terwm™T
(A) 1 B) -1

(€) 2 (D) 3

T % AgRH 2, - 1, 3, 1, 2, 5, 6 H HIETF ©
(A) 1 (B) -1

(€) 2 (D) 3

GET IT ON
Google Play

112,

A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The

approximate distance the person moved during the time is
(A) 22 m (B) 44 m

(C) 122 m (D) 144 m
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112, & qc2 93 2Me [T 7/ W 7 W, @ 63 R 93 WWE 7| oo a1 | 75y A
GETICS SIS i (€ 719 A SIS ZTO ToT® ZHC | G2 FAHCRIAS (O ST F41 79

ST A (20T
(a) 22 f. (B) 44 fx.
(C) 122 fi. (D) 144 .

112, @9 MG G 96 72 403 5 @ ¢ 3 q@fo [FE 7 cAce 7 W wae q@ww ey |
Pg=el B A1 O ORI O A f[ee e | @@ e (el ety wifedwe w41

R 79 25
(A) 22 f. (B) 44 fx.
(C) 122 f. (D) 144 fi.

112. 99 THRMET 3 AW ARGER oeE drel S e qee fogiem seamet 7 @ meeEE o
W UY qEEAEN TG o= M AEESEE SREE GhiA | § AR ST 98 e

DICICIN
(a) 22 . (B) 44 fir.
(C) 122 . (D) 144 f.

112. TF Afh TF 99 W 6 YHR Il @ foh 98 198 T T forg & gHem 7 Hio T @l &1 B R e
% 916 98 J: 3O TR forg W Uge SaT §1 39 §HA % QR S g a9 ohl TR STgHTa

U
(A) 22 Hio (B) 44 o
(C) 122 Hlo (D) 144 Hlo

113. A cube of volume 1 m? is cut equally into smaller cubes of volume 1 cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000
(C) 1000 (D) 1000000
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113. 1 991 . SO T GO 791 1 91 (6. . Sreeq g e g e I Tfereqr =7 |
o1 AF TR TR (2R

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

113. 1 ¥ . SRR G300 T FERH AN SAPET FUed 1 99 O, [, SR T#F [ow
T 2 | AIY T GRS AR 2

(A) 10000 (B) 100000
(C) 1000 (D) 1000000
113. 1 7@ 1. IS M1 T8 T NEE 1 s 9. L A S feaRiE e g, deed
et o SfiEmm=?
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

113. 1 59 Hio 3¥AH 9T Tk 4 1 1 B9 Yo Hio TRGH a1l SIS BH1 § GHE ®9 H el Sl 2| 91y

T B AT hI G 2
(A) 10000 (B) 100000
(C) 1000 (D) 1000000

114. The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 B) 18
(C) 48 (D) 36

114. 6, 8 TF 12 (F GCF TRCS OIS [Toq EF LS FRGCH] 27
(A) 24 (B) 18
(C) 48 (D) 36

114, [ToN GG 2RI I G2 AN 6, 8 R 12 &Rl [erey, G 2
A) 24 (B) 18
(C) 48 (D) 36

SPACE FOR ROUGH WORK

SLRC-2024/P-111/ 1-A 86


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

114.

114.

247

Ttz AR SEdTE T AN SIRRE 6, 8 AR 12 S TASRN, SR STl

() 24 (B) 18
(C) 48 (D) 36
el BN GATCH ik, S TF A1 6, 8 N 12 W favrsa B, #
(A) 24 (B) 18
(C) 48 (D) 36

115.

115.

115.

115.

115.

The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is

(A) 1 (B) 2
(C) 3 (D) 4
3-SRFYS GRS 7E I FIOIS IR HF 2-YE 0 A FOIS FRAE 212/ (202
(A) 1 (B) 2
(C) 3 (D) 4

3-SR FUSY FSF I TR R 2-W(CF JR&H TSI I FRAW TeKy 2L 29
(A) 1 (B) 2
€ 3 (D) 4

A 3-gHfsmrET faform s emfsm o @i 2-amfswrren ffsem sst'a smfsmf Tee
T BRI

(A) 1 (B) 2
€ 3 (D) 4
3 k! hI T B UThfcrh T TEAT 3R 2 37kt 1 TeH T TThfash TH WA % o= H AR
A) 1 (B) 2
(C) 3 (D) 4
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116. Identify the adverb in the following sentence :

He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

117. From the list below, identify the antonym of ‘cheap’.
(A) Price
(B) Poor
(C) Expensive
(D) Rice

118. What is the synonym of ‘furious™
(A) Laughter
(B) Witch
(C) Impure
(D) Angry

119. Identify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle

120. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter
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121. What is meant by ‘to get the green signal’?
(A) To stop others

(B) To go away
(C) To get permission

(D) To get the keys of a car

122. Fill in the blank :
Lokesh can jump very .
(A) high
(B) higher
(C) highest
(D) tall

123. What is the collective noun for ‘ish’?
(A) Swarm
(B) Pack
(C) School
(D) Herd

124. Fill in the correct conjunctions in the following :
Reshma _ Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and
(C) Not only, but also
(D) Neither, nor

125. Which of the following punctuation marks is called ‘apostrophe’?
@A) ()

(B) (/)

€ ()

(D) ()
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126.

Which of the following means similar to ‘elevated’?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

GET IT ON
Google Play

127.

What is meant by ‘o create a ruckus’?
(A) Make loud noise

(B) An artistic work

(C) Produce music

(D) Bake a cake

128.

Which of the following sentences is correct?
(A) She had not coming to the wedding.

(B) She is not come to the wedding.

(C) She did not coming to the wedding.

(D) She is not coming to the wedding.

129.

Choose the correct option :

We __ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed

130.

Which of the following pronouns refers to ‘myself’ ?
(A) We

(B) They

C) I

(D) You

SLRC-2024/P-111/ 1-A 90


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addal247

131. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

GET IT ON
Google Play

132. Identify the correctly spelt word.
(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

133. Identify the preposition in the following sentence :

The cat was sleeping under the cot.
(A) Sleeping
(B) Under
(C) Cot
(D) Was

134. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best

135. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran
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136. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

137. What would be the antonym of ‘“friend’ ?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

138. From the list below, identify the synonym of lament’.
(A) Sad
(B) Mourn
(C) Copied
(D) Molecule

139. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally

140. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy
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141.

What does ‘in a nutshell’ mean?
(A) Peanuts and almonds

(B) Very tough explanation

(C) Expressed in short

(D) Important discussion

GET IT ON
Google Play

142.

Fill in the blank :

Tuhin ran than Zubin to win the race.

(A) fast

(B) faster
(C) fastest
(D) fasting

143.

Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

144.

Which of the following punctuation marks is called ‘hyphen™

A ()
(B) (/)
€ ()
(D) ()

145.

What is the opposite of ‘sorrow’?
(A) Joy

(B) Happy

(C) Laugh

(D) Beauty
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146. Which of the following means ‘to get rid of a problem’?

(A) To hammer it out

(B) To get to the bottom of

(C) To get the monkey off one’s back
(D) To get the acts together

147. Identify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) I went to go home now.

148. Choose the correct option :
Is your brother __ to the gym?
(A) gone
(B) going
(C) go
(D) went

149. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It

150. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten
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